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Introduction


Welcome to your A-level course in Business. This book has been written to meet the precise requirements of AQA’s A-level Business specification.


Book structure


This book is divided into chapters that match the content and structure of the AQA specification which will help you to understand where you are in terms of covering the relevant material. The A-level course in this book is divided into ten units of study, each comprising between two and five chapters. The book assumes that you have no prior knowledge of Business and this is reflected in the title of Unit 1: ‘What is business?’ At the start of each chapter we give an overview of issues that will be covered and a list of the topics that you should aim to have understood by the end.


Decision making is a key theme for the specification and therefore for this book. Unit 2 focuses on the people who have to make decisions within business and the techniques they may use to make these decisions. The next four units (3 to 6) reflect the importance of decision making and are structured accordingly. Each of these units covers an aspect of the operation of a business such as managing finance, marketing or human resources. The units have three distinct elements:





•  identifying and explaining the objectives that may be set for this aspect or function of the business



•  looking at the information that may be available to help decision makers



•  considering the types of decisions that may be made in this function of the business.





Units 7 onwards, which you may study in year 2 of your A-level course, centre on strategic decision making. Thus, the seventh and eighth units of study entail analysing the current strategic position of a business (where are we now?), while later units look at strategic direction (where do we want to go?), strategic methods and managing change (how do we get there?). Understanding this from the outset will help you to see the wider picture and how the topics that you study are interrelated.


Mastering the models and theories you will study in this book will help you to understand situations which businesses and managers encounter. They also give you a framework to analyse the issues involved in a specific situation and can guide you in making relevant judgements and in justifying them.


Book features


Within each chapter, we have included the following features to support you in studying the material:
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Key terms [image: ]


This feature defines key terms from the specification. It is important to understand the meaning of the terms set out in the specification to be able to relate these concepts to a range of scenarios and to develop focussed responses to questions.
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Business in focus [image: ]


This feature should help to bring each topic to life by showing it in a real context. It shows you how theories and models can be applied to real businesses and can be used to help understand and analyse the decisions that managers, and others associated with businesses, have to make. Each Business in focus feature will have two or three practice questions at the end to encourage you to think further about the topic.
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What do you think? [image: ]


This feature is designed to encourage you to reflect on what you have just covered in a particular part of the book. It may ask you to relate an idea or concept to other topics in the book or to your own experience, or to consider what you might decide to do in a specific situation.
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Handling data [image: ]


This feature offers you an opportunity to apply your numerical skills to a topic and to interpret a range of business-related data, including graphs and tables.
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Key models and theories [image: ]


This feature summarises key models and theories included in the specification and how they may be used to answer questions set in a range of different business contexts.
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ASSESSMENT ACTIVITIES [image: ]


At the end of each chapter we provide a series of features which are relevant for you whether you are studying A-level or AS Business. The features we have included are:


Knowledge check questions


These are questions intended to test your knowledge and understanding of the material set out in the chapter.


Short answer questions


These require you to develop relatively brief responses to a variety of questions, some of which will be calculations.


Data response questions


These provide a business scenario and ask you to answer a number of questions by using your knowledge and understanding of the material in the chapter and relating it to the scenario given.


Essay questions


Essays are included at the end of each chapter. This type of question is intended for Alevel students only. There are no essays in the AS exams, although AS students may benefit from tackling some of these questions.
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Revision Sections


These are included at the end of each unit. They provide an opportunity for you to look back over the material that has been covered in the unit and assess how well you have understood it. These sections contain a number of features to help you to do this.





•  Advice on the unit, particularly things you should do and things you should avoid when studying these topics.



•  A unit checklist (that follows the specification closely) to monitor your coverage of the topics in the unit and your degree of understanding of each topic.



•  A selection of short-answer questions that test your knowledge of the range of topics covered in the unit.



•  A case study which provides a contemporary business context on which a range of questions have been set.



•  Two essay questions.





AQA’s AS examinations in Business


If you are taking AS Business, you will take two examinations at the end of the year. Both exams test all of the AS material covered in units 1 to 6 of this book.


Paper One


This paper is worth 50 per cent of the total AS marks and its duration is 1½ hours. It comprises three sections:





•  Section A – 10 multiple-choice questions



•  Section B – four short-answer questions



•  Section C – two data-response questions.





Paper Two


This paper is worth 50 per cent of the total AS marks and also lasts for 1½ hours. It is based around a case study which is likely to include some numerical data. There will be approximately seven questions relating to the case study.


AQA’s A-level examination in Business


If you are studying A-level Business, you may still take the AS examinations set out above, but these will not contribute to your A-level qualification as the two are entirely separate. (Your teachers will be able to advise you on whether you will take these AS examinations as practice.)


It is important to remember that the AQA A-level Business examination will assess the entire content of the A-level specification, all of which is covered in this book. These examinations are made up of three papers, each of which is worth 33.3 per cent of the total A-level marks. Each paper has a duration of 2 hours and carries 100 marks.


Paper One


This paper has four compulsory sections:





•  Section A – 15 multiple-choice questions each worth one mark



•  Section B – short-answer questions totalling 35 marks



•  Sections C and D – each comprising two essays from which you must choose one (that is one essay from Section C and one from Section D).





Paper Two


This paper comprises three compulsory data-response questions each carrying approximately 33 marks and made up of three or four individual questions. One of these data-response questions will have mainly numerical or graphic data.


Paper Three


This paper consists of a case study and approximately six compulsory questions.


Other sources of information


You may find it helpful to read the marking schemes that have been produced alongside past examination papers as part of your revision. These marking schemes provide you with:





•  answers to calculation questions



•  examples of the knowledge and key arguments that might be used to answer non-numerical questions



•  the demands of the question – that is what you have to do to answer it fully





Understanding the significance of these last two bullet points is very important in writing responses which answer the question as fully as possible. For example, in June 2018, AQA’s A-level Paper One included the following question: ‘Analyse how delayering might affect the level of profit of a business.’ To meet the demands of the question, students were expected to write an argument which linked the consequences of delayering to the effect on the level of the profit earned by a business. Such a response would reach the top level of the marking scheme. By just discussing the consequences of delayering without a link to profit levels, for example, students would only reach a lower level in the marking scheme. Therefore, understanding and responding to the demands of questions is a vital element of writing good quality responses.


AQA publishes Examiners’ Reports for each of its AS and A-level Examinations after they have been marked and the results issued. These reports set out aspects of the performance of students on each paper which has been good, and those areas where performance can be improved. Reading these reports can help you to prepare thoroughly for future examinations and to avoid some possible pitfalls.


Wider study


This book will guide you through the AQA AS and A-level Business programmes of study, although you should supplement this with research and wider reading. There is an immense amount of information available about businesses, their behaviour, their decision making and the environments in which they operate.


The internet is an enormous and valuable resource and there are numerous websites that are worth visiting. Company websites contain vast amounts of information. For example, public companies produce annual reports including information on their financial and social performance. Newspapers and other media operate valuable websites. Those of the Guardian, the Independent and the BBC are freely available and all have business sections. There are a number of very useful government websites. A topical example is the Business is Great website (www.greatbusiness.gov.uk). You will also find relevant information in magazines, newspapers and on television programmes.


However, business activity takes place around you all the time: when you are shopping, travelling to and from school or college, or enjoying leisure activities. There are many opportunities for you to see the operation of some of the theories and models that you will study.


Business is a subject that will have great relevance to your future life, whatever you choose to do. We hope that you enjoy studying it and wish you good fortune in your examinations.


Malcolm Surridge and Andrew Gillespie





Chapter 1 Understanding the nature and purpose of business
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Introduction


The purpose of this chapter is to introduce you to Business as a subject and to encourage you to think about the range of organisations that exist in a modern economy. The UK has businesses of all sizes, from those employing just one person to those who employ many thousands. They supply diverse products, from high technology products, such as military equipment, to relatively simple services such as painting and decorating. This chapter also invites you to consider the targets that businesses attempt to achieve and how they might measure their achievements.


What it is important to know by the end of this chapter:





•  why businesses exist



•  the relationship between a business’s mission and its objectives



•  the objectives that businesses commonly set themselves



•  the reasons why businesses set objectives



•  how businesses measure profit and why it is important.





Why businesses exist


1. What are businesses?


The word ‘business’ is derived from the idea of ‘busy-ness’. This notion of ‘busy-ness’ is a good description of many business organisations. They are busy finding and buying resources, organising and using these resources in production, selling their products and making sure they supply what their customers want. This tells us that businesses are organisations that transform inputs or resources into outputs or products that are purchased by their customers.
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Key terms [image: ]


A good is a physical product such as a house or designer suit.


A service is an intangible item such as insurance or decorating.


A product is a more general term which includes goods and services.
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Businesses are very diverse as well as being present in many aspects of our lives. They supply an enormous range of goods and services that are demanded by individual consumers and other businesses. They supply essential products such as electricity, health care and education as well as luxury products including jewellery, gourmet meals and designer clothes. Businesses supply goods and services. Goods have a physical existence and can be seen or held. Examples include televisions and furniture. Services are products that are intangible, such as cleaning, dental care or the provision of hotel accommodation.


Businesses are very important for the UK. They bring a number of benefits to the country, its economy and its inhabitants.





•  Businesses create employment. Businesses create jobs for individuals. In many cases the business only has one person in it; in some cases, businesses employ hundreds of thousands of people.



•  Businesses create income. Business earn profits from their activities which are paid to their owners who therefore earn income. Employees are paid for their work.



•  Businesses create new products. Businesses can improve the lives of people by creating new goods and services. Pharmaceutical businesses such as GlaxoSmithKline (GSK) research and develop medicines that can cure illnesses, extend life expectancy and improve the quality of people’s lives.



•  Businesses can enhance a country’s reputation. Successful businesses can help to establish and maintain a country’s reputation for being innovative and forward looking. The UK has a strong global reputation for producing top quality music and television programmes.
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Handling data [image: ]






	 

	Businesses


	Employment Thousands


	Turnover1 Millions







	All businesses

	5,694,515


	26,723


	3,739,171







	SMEs (0–249 employees)

	5,687,230


	16,146


	1,904,912







	Small businesses (0–49 employees)

	5,653,375


	12,849


	1,363,996







	With no employees2


	4,327,680


	 4,697


	 271,574







	All employers, of which:

	1,366,835


	22,026


	3,467,597







	1–9 employees

	1,117,810


	4,093


	552,637







	10–49 employees

	 207,885


	4,059


	539,786







	50–249 employees

	 33,855


	3,297


	540,915







	250 or more employees

	 7,285


	10,577


	1,834,259








1 Total turnover figure exclude Section K (financial and insurance activities) where turnover is not available on a comparable basis.


2 ‘With no employees’ includes sole proprietorships and partnerships with only the self-employed owner-manager(s), and companies with a single employee, who are assumed to be directors.


Table 1.1 Estimated number of businesses in the UK private sector and their associated employment and turnover, by size of business (2017)


Source: Department for Business, Energy & Industrial Strategy, ‘Business population esti-mates for the UK and regions 2017’





1  What percentage of businesses in the UK at the start of 2017 had







    a  no employees


    b  over 250 employees?








2  What percentage of employment in the UK at the start of 2017 was in businesses with







    a  no employees


    b  over 250 employees?








3  What percentage of turnover in the UK at the start of 2017 was in businesses with







    a  no employees


    b  over 250 employees?
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Figures 1.1 Businesses come in many types and sizes.
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Handling data [image: ]
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Figure 1.2 UK private sector business population, 2000–2017





Source: Department for Business, Energy & Industrial Strategy, ‘Business population estimates for the UK and regions 2017’





1  Calculate the percentage increase between 2000 and 2017.



2  Analyse why this change might have occurred.
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2. What do businesses do?


Businesses exist to transform inputs or resources into goods and services that are in demand from individuals and other businesses. This transformation process is illustrated in Figure 1.3.


The transformation or production process undertaken by businesses adds value to the inputs that are used as illustrated in Figure 1.3. This increase in value occurs because they are demanded by certain groups of consumers who will receive benefits from having that product. Because of this the buyers are willing to pay a price that exceeds that paid for the inputs or resources used in production. For example, Apple’s new versions of its iPhone sell for prices far in excess of the cost of the resources used in it. Buyers pay these prices because the phone offers a range of benefits, including the latest technology and status from owning a high- fashion product.


Businesses interact with us throughout our daily lives. It is not necessary to visit a high street or a trading estate to see a business in operation. Modern methods of communication have brought businesses into our homes, our relationships and our leisure activities. We encounter them when buying goods and services, but also when engaging in everyday activities such as using the internet to research something or communicate with friends. A business will have supplied the tablet, phone, laptop or other device you use to connect to the internet, a business will also provide the internet service and the webpages that you view. Finally, a business will have provided the energy and the telephone or satellite connection necessary to use the internet.


Businesses exist to satisfy our needs for a range of goods and services which we would be unable to provide for ourselves because we do not have the skills or time to source them, or because the costs of supplying them ourselves would be prohibitive. For example, without specialist businesses it is unlikely that we would be able to fly to other countries because we do not have the resources or skills to source this service. Privately owned businesses are an efficient means of supplying the wide variety of goods and services needed by modern economies. Other businesses that are owned and operated by the government may supply goods and services that would not otherwise be available. For example, it is common for governments to provide services such as street lighting and national defence.


Businesses also exist to satisfy other needs. They provide a means of satisfying people’s desire to be creative or to make money. Some entrepreneurs establish businesses to allow them to express their creative talents. In 1993, Cath Kidston established a business selling distinctive fabrics, wallpapers, china and clothing. Her design talents have created a successful business that operates internationally. Others have made vast fortunes from creating and expanding businesses. James Dyson, an inventor and founder of the Dyson business, has amassed net wealth estimated in 2013 to be £3 billion.
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Figure 1.3 Adding value by transforming inputs or resources into goods and services





The people who are employed by businesses have to make many decisions. The people who create new businesses, called entrepreneurs, have to make vital decisions concerning how to turn their ideas into a business, such as, where to locate the business, how many products should be produced and at what price should they be sold. The decision-makers in larger businesses, normally their managers, make decisions such as whether or not to produce a new product, to try and sell in a foreign market or to buy another business.


3. Types of businesses


It is possible to categorise businesses and the products they supply in different ways. Some businesses supply products directly to the final consumers and these are called business to consumers (or B2C) firms. Well-known businesses such as McDonald’s and Sony are examples of B2C businesses. In contrast, some other businesses supply their products to other business organisations. These are business to business, or B2B, businesses, for example, Tata Steel manufactures large amounts of steel in locations throughout the world. It sells its steel to other businesses, such as car manufacturers, to help them to supply their own products.


Sectors


A business can be categorised according to the sector of the economy in which it is based. Businesses are classified into one of three sectors according to the types of goods and services they supply. The three sectors are:





•  Primary – agriculture, forestry, fishing, mining and quarrying, oil and gas extraction



•  Secondary – manufacturing, construction and the supply of electricity, gas and water



•  Tertiary – the supply of services, for example, hotels, catering, transport, education and health.
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Business in focus: JCB [image: ]


J.C. Bamford Excavators Limited, normally known as JCB, is a British multinational manufacturer of equipment used in the construction, agriculture, power generation, waste management and demolition industries. JCB produces a range of over 300 machines and maintains a reputation for excellent customer service. JCB is one of the world’s top three manufacturers of equipment such as excavators, forklift trucks, power generators, dump trucks and lighting equipment. It employs around 11,000 people on four continents and sells products in 150 countries.
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Figure 1.4 JCB’s products are bought principally by businesses for use in their own production processes. Some of JCB’s customers are large businesses themselves and can place substantial orders with the company.





Practice questions





1  Analyse why JCB is able to sell its products for more value than the inputs used by the business to create them.


(9 marks)



2  JCB is a B2B firm and sells its products to a relatively small number of businesses. Do you think that it is easier for a B2B business to sell its products?


(9 marks)
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Some businesses may operate in more than one sector. For example, BP is one of the world’s largest oil businesses. Its gas extraction activities place it in the primary sector and processing the mineral oil into petrol and other products is a manufacturing process (secondary sector). Finally, the business sells its products via retail outlets, which are part of the tertiary sector.


Over time, the tertiary sector has supplied an increasing proportion of production (measured by gross domestic product or GDP) in the UK while manufacturing businesses have become relatively less important. One reason for this trend is that businesses overseas are able to supply manufactured products more cheaply. However, rising incomes in the UK have led to increased demand for services such as hotels, travel and catering.
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Key term [image: ]


Gross domestic product (GDP) measures the value of a country’s total output of goods and services over a period of time, normally one year.
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The relationship between mission and objectives


Mission statements


A mission statement sets out what a firm is trying to achieve, that is, the reason it exists. For example, a business may set out to be ‘the lowest-cost producer in the industry’ or to ‘maximise the returns for our owners’. The mission may include a statement of what the firm believes it is, what it values, which markets it wants to compete in and how it intends to compete. Mission statements commonly focus on:





•  the organisation’s values



•  non-financial goals it may pursue



•  the benefits of the business to the community



•  how consumers are to be satisfied.
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Key terms [image: ]


A mission statement sets out a business’s overall purpose to direct and stimulate the entire organisation.


Aims are long-term plans of the business from which its corporate objectives are derived.


Objectives are medium- to long-term targets established to coordinate the business.
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By setting the mission of the business, everyone within the business knows what they should ultimately be trying to do. All of their actions should be directed towards the same thing. This should make decision making easier: when faced with a series of options managers can compare them in relation to the overall purpose of the business. Having a clear mission can also motivate people – they know exactly why they are there and what the business is trying to achieve, and this can give them a sense of belonging and direction.


However, some mission statements are unrealistic, or clearly just public relations exercises, and so employees may pay little attention to them. A mission statement will only have value, therefore, if the behaviour of everyone within the firm supports it. In these circumstances, it can be a powerful way of uniting people and developing a corporate spirit.


The list below sets out some mission statements used by well-known organisations:





•  to provide the finest, most technologically advanced power systems. Whether our products are for use on land, at sea or in the air (Rolls Royce)



•  to bring inspiration and innovation to every athlete in the world (Nike)



•  to ensure the ability of Earth to nurture life in all its diversity (Greenpeace)



•  to give people the power to share and make the world more open and connected (Facebook).





Aims and objectives


1. Aims


Aims are long-term plans from which a business’s objectives are derived; these are often referred to as corporate aims, meaning that they relate to the whole business. Businesses do not normally state aims as numerical targets, but rather in qualitative terms. For example, the house-builder Taylor Woodrow states that its corporate aim is ‘to make our homes environmentally sustainable to build and to live in.’ Tesco’s aim is to broaden the scope of the business to enable it to deliver strong, sustainable long-term growth.


Corporate aims (and mission statements) are set by the senior employees within the business and are intended to provide guidance for setting other objectives and also to guide and assist more junior managers in their decision making. So, for example, managers throughout Tesco’s stores will take decisions intended to achieve the organisation’s aims of broadening the business’s scope and delivering strong, sustainable growth. In this context, opting to open supermarkets in China and to sell electrical products and clothing are all important long-term decisions that the business has taken with the intention of meeting its corporate aims.


From its corporate aims (and from its mission statement) a business can set quantifiable objectives, such as gaining a 35 per cent share of a particular market in Europe within three years.
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Figure 1.5 The hierarchy of objectives
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Business in focus: Starbucks’ mission statement [image: ]
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Figure 1.6 Starbucks





Starbucks is clear about what makes it a great company. According to its mission statement, the company’s success is because it is focused on the product as well as the people.


Starbucks is always focused on the quality of its coffee. The company is passionate about sourcing its coffee beans ethically and improving the lives of those who grow them.


Its staff are called partners to reflect the belief that they work together and they respect each other. Starbucks want its partners to be themselves and to be passionate about their work.


It wants to engage with customers. It wants to provide customers with perfect drinks but also to laugh with and help improve their lives even if it is only for a few minutes of their day.


It wants its stores to be part of the communities where they are based. It wants its stores and its partners to take their responsibilities to these communities seriously and to make themselves welcome. It wants its partners to take positive action to improve the communities they are in.


It focuses on delivering shareholder value by being successful in all these other areas, If it gets things right with its coffee, its farmers, its partners and its communities, it can achieve better shareholder value and the company will thrive.


Practice questions





1  Analyse how senior managers at Starbucks could use the information in the business statement to set objectives for the business.


(9 marks)



2  To what extent is producing a mission statement likely to improve the performance of a business?


(16 marks)
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2. Objectives


Once a firm has established its mission it can set its objectives. The objectives turn the mission statement into something that is more quantifiable. Rather than simply being a statement of intent, an objective sets out clearly what has to be achieved. It is a target.


Objectives are medium- to long-term targets established to coordinate the business. Objectives should be quantified and have a stated timescale, such as ‘to earn a 20 per cent return on capital next year’.


To be effective objectives should be SMART. SMART objectives must be:





•  Specific – they must define exactly what the firm is measuring, such as sales or profits.



•  Measurable – they must include a quantifiable target, for example, a 10 per cent increase.



•  Agreed – if targets are simply imposed on people they are likely to resent them; if, however, the targets are discussed and mutually agreed, people are more likely to be committed to them.



•  Realistic – if the objectives are unrealistic (for example, they are too ambitious) people may not even bother to try and achieve them. To motivate people the targets must be seen as attainable.



•  Time specific – Employees need to know how long they have to achieve the target – is it two or three years?





An example of a good objective might be: ‘to increase profits by 25 per cent over the next four years’. By comparison, a bad objective would be ‘to do much better’ – it is not clear what ‘doing better’ actually means, how it will be measured or how long you have to achieve it.


Common business objectives


Businesses may set themselves a number of objectives, including those below.


1. Profits and profit maximisation


Profits are maximised when the difference between sales revenue and total costs is at its greatest. Some firms set objectives that involve achieving a minimum level of profit, allowing the business and its managers to focus on other objectives.
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Key terms [image: ]


Profit is the surplus of total revenue over total costs for a business over a trading period.


Cash flow is the movement of cash into and out of a business over a period of time.
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Other businesses may seek to earn the greatest possible profits to satisfy their shareholders’ desire for high dividends. This might be a shorter-term objective. Others may pursue the longer-term objective of providing acceptable levels of dividends, but also growth in the value of the business and therefore in the share price. This can provide shareholders with long-term financial benefits.


2. Growth


Many businesses pursue growth because their managers believe that the organisation will not survive otherwise. If a firm grows, it should be able to exploit its market position and earn higher profits. This benefits shareholders (in the long term) by providing greater dividends as well as offering better salaries and more job security to the employees and managers of the business. We saw earlier that Tesco has set itself the aim of strong, sustainable growth and this will have been transferred into quantified objectives, possibly relating to sales figures or grocery market share in other countries.


3. Survival


This objective is for the business to continue to trade over a defined period of time, rather than to submit to some form of commercial pressure and be forced to cease trading. This is an important objective, even for the largest of businesses at certain times. Times when survival can become a key objective include:





•  periods of recession or intense competition



•  times of crisis, such as during a hostile takeover bid.





During these times the business may have to take actions such as lowering prices that reduce profits but enable it to continue to survive.


4. Cash flow


For most businesses, cash flow is a vital element of success as it is essential to be able to pay debts on time. This is especially true of businesses that have long cash cycles. A cash cycle is the time that elapses between the outflow of cash to pay for the resources needed to produce a product and the receipt of cash following the sale of the product. Businesses in industries such as pharmaceuticals and construction may face long cash cycles because there are large outflows for long periods before the product is made and sold. The failure to set an objective relating to cash flow could have dire consequences for a business if it is unable to pay its debts as they fall due. In the worst case a shortage of cash could result in a business having to cease trading.


5. Social and ethical objectives


Social objectives include targets that relate to matters such as providing employment for people or improving facilities for local people (for example, building a play park for local children). Ethical objectives are those that are based on moral principles. Examples of ethical objectives include protecting the environment through the use of sustainable production techniques and ensuring that suppliers receive fair and prompt payment. Such objectives have received much attention over recent years. In part, this is the result of increasing awareness on the part of many individuals and groups who have an interest in a business. Some investors will only invest in businesses that trade with ethical or social objectives. Importantly, a significant proportion of customers seek to purchase products from businesses with social and ethical objectives. Pursuing such objectives, and publicising the fact, can offer a business a distinctive and attractive image.
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Business in focus: Marks & Spencer and its Plan A 2025 [image: ]


Ten years ago, we launched Plan A. We made 100 commitments to tackle five big issues – climate change, waste, resources, fair partnerships, and health. These issues are still as relevant as ever. They’re the beating heart of Plan A. Plan A 2025 strengthens our commitment to address these issues with 100 bold new targets. Crucially, it forces us to address questions to which we do not yet have answers, but must address if we are to become a truly sustainable retailer.


We have achieved a lot with Plan A over the last ten years but we need to accelerate our work in our own operations, supply chains and with our customers too. Even for a plan as ambitious as Plan A it’s clear that ‘steady as she goes’ is not enough given the scale of wellbeing, community and planetary challenges we face. Nor is it enough to race ahead alone, we’ll fail if the rest of the business community and the policy ecosystem within which it operates does not change too, so we have to continue to build bigger and bolder partnerships to affect collective change. So, more ambition, more pace and more scale all define Plan A 2025. What does not change is our determination to be the retail leader globally in sustainable business.


Source: Marks & Spencer’s Plan A


Practice questions





1  Analyse the benefits that Marks & Spencer would expect to receive from having social and ethical objectives set out in its Plan A.


(9 marks)



2  Do you think that any retailer can expect to succeed in the future without setting and publicising social and ethical objectives?


(16 marks)







[image: images]

Figure 1.7 These campaigns emphasise M&S’s ethical behaviour.
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6. Diversification


Diversification is an objective where a firm produces an increased range of unrelated goods and services. Adopting this objective allows a business to spread its risk by selling a range of products (rather than one) or through trading in different markets. Thus, if one product becomes obsolete or a market becomes significantly more competitive, then the alternative products or markets will provide a source of revenue for the business while it seeks new projects. Diversification avoids a business having ‘all its eggs in one basket’ and has been the principle behind the creation of conglomerate businesses. Pepsico Inc, the multinational soft drink and snack producer, pursued the objective of diversification to extend its product range beyond soft drinks to help it to compete with its powerful rival Coca-Cola.


Short-run and long-run objectives


When deciding what they want to achieve, businesses can set both short-run and long-run objectives. If a business has a long-run growth objective it may want to invest in training employees to improve skills and performance, expanding into new markets and investing in developing new products. All these activities may help to achieve the long-run growth objective. However, they will prove expensive and short-run profits may fall.


By comparison, a business that wanted to maximise its profits in the short run and was not concerned about the long term might cut back on all these activities. It would reduce expenditure on training and developing new products. In the short run, profits may jump up but in the long run this business may be in a much weaker position.


UK firms are often criticised for setting objectives that are too short-term and do not involve long-term planning. Critics say that UK businesses fail to invest enough in ensuring they are strong enough over the long term and that investment by UK businesses is very low. Instead, they often go for short-term rewards. In their defence, UK managers often blame their investors for insisting on short-term rewards. Many shareholders in the UK are businesses such as pension funds and banks. These businesses need to make money for their own investors and often want these earnings quickly; if a business cannot deliver, pension funds and banks will simply move their investment elsewhere.
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Business in focus: Me & the Bees Lemonade [image: ]


Some entrepreneurs start very young. At age 14, Mikaila Ulmer is the boss of Me and The Bees Lemonade.
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Figure 1.8 Me & the Bees Lemonade products





Mikaila’s business started when she was even younger. In 2009, she started selling home-made lemonade from a table at the front of her house. The drink was made using a recipe that had been in her family for over 50 years. It includes honey. Ten per cent of the company’s profits is used to help protect bees. Mikaila’s business grew from her family home to supplying local businesses and then in 2015 she won a contract to sell to the food and drinks chain Whole Foods Market. Her product is now sold in over 500 stores across the US.


Source: BBC News, 2018 ‘The 13-year-old who built a best-selling lemonade brand’


Practice questions





1  Analyse the possible objectives Mikaila might now set for her business.


(9 marks)



2  To what extent do you think the objectives of Mikaila’s business are likely to change over time?


(16 marks)
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Why businesses set objectives



By setting objectives, a business and the people who have an interest in it (known as its stakeholders) can gain a number of benefits. By agreeing on objectives with other people within the business:





•  managers can ensure that everyone is working towards the same overall target. Without any clear objectives people are much more likely to do their own thing. Coordinating the efforts of all employees can improve organisational performance, especially in large businesses that may have people employed in different locations. For example, one of Tesco’s objectives is to expand its retail services in all areas. This helps to encourage all the retailer’s employees to seek ways to increase the business’s sales and can be supplemented with individual sales targets for specific stores.



•  employees may be motivated because they know exactly what the business wants them to achieve. If an employee is set a target, they know precisely what they have to do. Without a target, they may not be sure whether or not they are doing the right thing. Having a target also enables employees to measure progress: they can see how they are doing and whether or not they (or the relevant part of the business) are going to reach its target.



•  the success of a business’s plans can be reviewed. Managers can measure how much has been achieved compared to the target that was set. For example, the management team at Tesco can see if it has achieved the sales or growth targets that it set for various parts of the business. If the objective has not been hit, managers and employees can discuss why this has happened and what they can do differently to achieve the target next time.
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Key terms [image: ]


Stakeholders are individuals or groups (such as employees, customers and local residents) who have an interest in a business.


Revenues are the earnings or income generated by a business as a result of its trading activities.
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The measurement and importance of profit


Costs and revenues


The relationship between profit, cost and revenue


Profit is a very important objective for many, but not all businesses. Making a certain level of profit, or the maximum possible, will be an important objective for many of the UK’s largest and best-known businesses such as Vodafone or Centrica, but not for others such as charities, which pursue other objectives.


One of the most important relationships for a business is:


Profit = total revenue – total costs


This formula allows businesses to calculate whether they might make a profit and, if so, how much it might be.


Business costs


What is a cost? It is simply the expenditure a firm makes as part of its trading. Some of the expenses or costs firms face include payments for raw materials, fuel and components, as well as for labour (paid as wages and salaries).


These costs can be classified in a number of ways, though the most common is to divide them into fixed and variable costs.


Fixed costs


Fixed costs do not change when a business alters its level of output. As an example, a business’s rent will not vary if there is an increase or decrease in the level of production. Other examples of fixed costs include management salaries and maintenance costs paid by the business.
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Key terms [image: ]


Fixed costs are costs that do not alter when the business alters its level of output. Examples include rent and rates.


Variable costs alter directly with the business’s level of output, for example, fuel costs.


Total costs are fixed and variable costs added together.


Average costs are total costs of production divided by the level of production or output to give the cost of producing a single unit of output.
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Handling data [image: ]


The managers at NTV plc have calculated that if the business manufactures 2 million televisions in a year, the average fixed cost of producing one (that is the part of the business’s fixed costs that has to be paid by a single television) will be £250 million divided by 2 million, which equals £125.


Calculate NTV Plc’s average fixed cost of production if it produces:





1  1 million televisions a year



2  5 million televisions a year.
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Variable costs


In contrast to fixed costs, variable costs alter directly with the level of a firm’s output. This means that, a business that is increasing its output is likely to have to pay higher variable costs, whereas one that is reducing output could expect variable costs to fall. Expenditure on fuel, raw materials and components are all examples of variable costs.


Imagine NTV faces variable costs of £350 for each television it manufactures; this is necessary to pay for the components, fuel, packaging and labour. So, to produce 2 million televisions, the business faces variable costs of £700 million (2,000,000 x £350); to manufacture 5 million televisions results in variable costs of £1,750 million (5,000,000 x £350). This level of production and the variable costs are illustrated in Figure 1.9.


Figure 1.9 shows that expenditure on items such as fuel, labour, raw materials and other materials rises directly along with output. Variable costs are drawn as a straight line for simplicity. However, in the real world, the line may gradually flatten out as businesses frequently negotiate lower prices when placing large orders. For example, NTV is obviously a large business and would have a lot of power when negotiating with its suppliers. NTV plc may be able to purchase materials more cheaply per unit if it places exceptionally large orders. This would reduce the variable costs for each unit of production (or average variable costs) as output increased, causing the variable cost line to flatten slightly at higher levels of output. The variable costs associated with the production of 5 million televisions might, for example, be £1,600 million. If so, this would mean that the variable cost of one television is actually £320, not £350.


Variable costs are usually shown as a straight line.
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Figure 1.9 Variable costs for NTV plc





Total costs


The calculation of total costs assumes that all the costs faced by a business are either fixed or variable. This means total costs can be calculated simply using the following formula:


Total costs = fixed costs + variable costs


Total costs can be used to calculate the average cost of producing a single unit of production. In Table 1.2 we can see that the average cost of production is £600 per television if NTV plc manufactures 1 million televisions. However, this falls to £400 per television if it increases its production to 5 million televisions per year. This reduction takes place because the business’s fixed costs are being spread over a higher level of production or output and therefore have a diminishing impact on average costs of production.






	Level of production (televisions, millions)


	Fixed costs (£ million)


	Variable costs (£ million)


	Total costs (£ million)







	0


	250


	 0


	 250







	1


	250


	 350


	 600







	2


	250


	 700


	 950







	3


	250


	1,050


	1,300







	4


	250


	1,400


	1,650







	5


	250


	1,750


	2,000







	6


	250


	2,100


	2,350







	7


	250


	2,450


	2,700








Table 1.2 Cost information for NTV plc
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What do you think? [image: ]


Why are televisions normally manufactured by large businesses, rather than small ones?
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Costs and decision-making


Total costs of production are an important piece of information for a business. Managers of a business can use this information when taking decisions on levels of output and prices to be charged. For example, firms that have very high levels of fixed costs, perhaps due to expensive equipment, will seek to produce large quantities of output. This reduces the effect of fixed costs on selling price by spreading them over a large quantity of sales.


Information relating to costs can be extremely helpful to managers when deciding on prices. It is unlikely that a business will want to set prices below the costs of production for any length of time. If a business knows the average cost of producing a product, then it can set a price that is higher, which will ensure it makes a profit, so long as it is able to sell all that it produces. This is known as ‘cost-plus pricing’.


Sometimes businesses are not able to control the price at which they sell their products – they might be a small firm in a very competitive market. In these circumstances it is important to know costs of production to decide whether it is possible to sell products at a profit. This will help the business’s managers to make a decision on whether to enter, or to remain in, a market.


In reality, it can be difficult for many businesses to calculate the average costs of production. Many businesses produce a range of products using the same production facilities. This means that the business’s fixed costs may relate to a number of different products and it can be difficult to divide these fixed costs accurately between different products.
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Handling data [image: ]


Complete the table below.






	Output


	Fixed costs £


	Variable costs £ (assume VC per unit is £2)


	Total Costs = Fixed Costs + Variable Costs £







	0


	200


	0


	200







	10


	 

	 

	 






	20


	 

	 

	 






	30


	 

	 

	 






	40


	 

	 

	 






	50


	 

	 

	 






	60
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Business revenues


A business’s revenue is its income over a period of time. You may also encounter the terms sales revenue, sales income or turnover, which have the same meaning. Businesses calculate the revenue from the sale of a single product as well as from their entire product range. In either case, the calculation is the same:


Revenue = quantity sold × average selling price


In most circumstances, a firm can exercise some control over the quantity it sells and hence over the revenue it receives.


If a business reduces its selling price, it can normally expect to sell more. Whether or not this increases its revenue depends on the number of additional sales it makes as a result of reducing its price. If competitors also reduce their prices, then few extra sales will result and revenue is likely to be relatively unchanged or may even fall. However, if the price reduction makes the product cheap compared to those of competitors, and it offers similar benefits, then a price reduction might increase sales significantly increasing the revenue received by the business.


Similarly, a rise in price can be expected to reduce sales. The size of the fall in sales will depend on many factors, including the loyalty of customers and the relative quality of the products. The amount by which sales fall will determine whether the firm receives more or less revenue following its price rise. Some businesses sell products that are unique or regarded as highly desirable, perhaps because they are fashionable. For example, some producers of fashion clothing, such as Gucci, can charge high prices and still enjoy relatively high sales.
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What do you think? [image: ]


Why are some businesses able to set high prices for its products and not suffer a large fall in sales and in sales revenue?
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The relationship between price and sales revenue is explained by the concept of the price elasticity of demand (see pages 99–100).
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Handling data [image: ]


Complete the table below.






	Output


	Total revenue £ (assume price = £5 a unit)


	Variable costs £ (assume VC per unit is £2)


	Total Costs = Fixed costs £ and variable costs £







	0


	0


	0


	200







	10


	 

	 

	 






	20


	 

	 

	 






	30


	 

	 

	 






	40


	 

	 

	 






	50


	 

	 

	 






	60
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Profits


A business makes a profit when, over a period of time, its revenue exceeds its total costs of production. The formula necessary to calculate profit is:


Profit = total revenue – total costs


A business’s profits depend upon two main factors: profit margins and the quantity (or volume) of sales.





•  A profit margin is the amount or percentage of the final selling price that is profit. If a business sells products where a large percentage (or margin) of the price is profit, then it is likely to make large profits.



•  However, the quantity a firm sells will also affect the amount of profits it earns. In general, if a business sells a greater quantity of its products it will make more profit, so long as it does not have to reduce price (and therefore its profit margin) to achieve higher sales.





If a business’s costs are greater than its revenues over an accounting period the enterprise will make a loss rather than a profit.


Why are profits important?


For many businesses, profits are very important and are often used as a measure of success. Many people who invest in enterprises do so in the hope and expectation of making a handsome return on their money. For such investors it is not simply profits that are important, but rather the size of the profit. A larger profit means a greater return for the investor.


Making a profit brings a range of benefits to a business and its owners and can influence a number of decisions.





•  A profitable business may be attractive to customers. The financial performance of many of the UK’s better-known businesses is reported in the media. Customers may believe that profitable businesses are selling desirable products and may be willing to make long-term arrangements with a business that they consider to be financially secure.



•  A business that makes a profit, especially one which exceeds expectations, is likely to be able to persuade individuals and institutions such as banks to invest in it. This can make it cheaper to raise finance and may encourage and support expansion decisions.



•  A profitable business may be bought by a larger rival. A profitable business is attractive in itself and may own valuable brands or be popular in a market which the larger business would like to enter. This can earn the original owners large sums of money.



•  A profitable business is more likely to have the confidence of its suppliers and they may be more willing to allow the business time between the delivery of suppliers and payment. This is effectively an interest-free loan.
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Handling data [image: ]


Complete the table below.






	Output


	Fixed costs £


	Variable costs £ (assume VC per unit is £2)


	Total Costs £


	Total revenue £ (assume price of £10 per unit)


	Profit £







	  0


	240


	0


	240


	0


	(240)







	10


	 

	 

	 

	 

	 






	20


	 

	 

	 

	 

	 






	30


	 

	 

	 

	 

	 






	40


	 

	 

	 

	 

	 






	50


	 

	 

	 

	 

	 






	60
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For some businesses, earning a profit may not be at all important. A number of businesses are not established and operated with the aim of making profits. Charities, for example, do not seek to make profits. This type of business seeks to raise the maximum amount of income possible, or to provide a high-class product, while earning enough to cover costs.
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ASSESSMENT ACTIVITIES [image: ]


(a) Knowledge check questions




  1  What is the difference between a service and a product?


  2  State two reasons why businesses exist.


  3  List two inputs used by a business to make goods or services.


  4  State two features of a business’s operations that may be reflected in its mission statement.


  5  Is the following statement true or false: ‘When drawn on a graph, variable costs always start at the origin (where the two axes intersect)’.


  6  State two features of a good objective.


  7  Complete the following formula: Revenue = ………. × average selling price


  8  A business has total costs of £12.5 million for producing 500,000 items. The variable cost per unit of producing an item is constant at £20. What are the business’s fixed costs?







      i    £12 million


      ii   £2.5 million


      iii  £1.5 million


      iv  £3.5 million







  9  A business sold 37,000 garden sheds last year at an average price of £250. This year it plans to reduce its price to £225 and expects its sales to rise by 15 per cent. How much revenue can it expect to receive this year?







      i    £9,573,750


      ii   £8,325,000


      iii  £10,637,500


      iv  £9,775,750








10  A business has gathered the following information in relation to its most recent year of trading:







  •  It produced and sold 75,000 items.


  •  The average selling price was £150.


  •  Its fixed costs were £4.5 million.


  •  Its average cost per unit of production was £85.







How much profit or loss did the business make during the year?







      i    £375,000 profit


      ii   £6,750,000 profit


      iii  £375,000 loss


      iv  £4,875,000 loss





(b) Short answer questions




  1  Explain one benefit to a rapidly expanding business of setting clear business objectives.


(4 marks)


  2  The following data applies to a recently established business:







  •  selling price = £500


  •  fixed costs = £255,000


  •  variable costs per unit of output = £120


  •  sales = 1,000 units.







Calculate the business’s profits. Show your workings.


(5 marks)


  3  Merlin plc constructs bridges and tunnels. Explain why the business might consider setting cash flow objectives to be important.


(5 marks)


  4  Explain one reason why it is important for a business that is expanding into new markets to record a profit.


(6 marks)





(c) Data response questions


Burberry


Burberry, the premium British fashion label, was found to have destroyed nearly £30 million of unsold clothes, accessories and perfume. In total, it has destroyed over £90 million worth of goods in the last five years. These products were destroyed to prevent them being resold at a low price because of the impact of this on the brand image. The energy generated from burning its products was captured, making it environmentally friendly. The company says that it aims to minimise the amount of excess inventory it ends up with. It tries to deal with these excess products in a responsible manner. In the past, Burberry has had problems with counterfeiters damaging the brand. However, environmental campaigners are angry about the waste.


In Burberry’s most recent financial year, the company reported a five per cent rise in profit to £413m, with sales little changed at £2.7bn.


Source: Adapted from BBC News, ‘Burberry burns bags, clothes and perfume worth millions’ 19 July 2018




  1  Explain why Burberry has excess inventory some years.


(5 marks)


  2  Analyse the consequences for Burberry of increasing its profits.


(9 marks)


  3  To what extent do you think Burberry is right to destroy its excess inventory?


(16 marks)





(d) Essays




  1  To what extent do you think maximising profit is always the most important objective for large well-known businesses?


(25 marks)


  2  Do you think mission statements are only of value to large businesses? Justify your answer.


(25 marks)
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Chapter 2 Understanding different business forms
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Introduction


This chapter builds on Chapter 1: Understanding the nature and purpose of business. It considers the forms that may be adopted by the UK’s diverse businesses and the issues that relate to these. It will explore the implications of different forms of ownership for important aspects of a business’s operations, such as its decisions and performance. It will examine the role of shareholders as owners of companies and why company share prices alter and what this means for the organisation and its stakeholders.


What it is important to know by the end of this chapter:





•  why businesses choose to operate in a particular form or to change the form that they use



•  the issues that businesses face arising from decisions about which business forms to use



•  the role played by shareholders and the reasons they decide to invest in companies



•  the factors that influence share prices and the significance of changes in the prices of companies’ shares



•  the effects of different types of ownership on a business’s mission, its objectives, decisions and ownership.





Private sector businesses


If a business operates in the private sector of the economy, it is owned by shareholders (in the case of companies) or by private individuals. Large businesses such as GlaxoSmithKline and small ones such as a local corner shop are part of the private sector. Private sector businesses are not owned by government, local authorities or other state organisations. Most businesses in the UK are part of the private sector and this is the case in most developed economies.


1. Sole traders


When individuals establish and operate a business on their own, they are known as ‘sole traders’, or sometimes as ‘sole proprietors’. This is a very popular form of business.


Sole traders are normally relatively small businesses such as plumbers, decorators, window cleaners and hairdressers. The people running these sole trader businesses work for themselves. It is not uncommon for sole traders to hire other people to help them out, but they remain responsible for the overall business and are actively involved in the running of it on a daily business.


Sole traders may work on their own, and must have the confidence to take decisions and the range of skills necessary to run the business, including managerial skills. Sole traders may have to serve customers, decide what equipment to buy, deal with suppliers and keep accurate and up-to-date business records. This can require a wide range of skills and an enormous degree of flexibility.


Operating as a sole trader requires a high level of self-discipline because there is no one checking up or offering guidance. This can be exciting. It does, however, place a considerable emphasis on self-motivation. Sole traders have to make things happen and ensure they manage their time effectively.


The advantages of operating as a sole trader


One of the main advantages of being a sole trader is that it is so easy to start up and manage this form of business. Unlike starting other types of organisation, such as companies, it is not necessary to register the business with a government agency or fill in any forms. Sole traders can simply start trading, provided any profits are declared to HMRC (Her Majesty’s Revenue and Customs), which is responsible for collecting taxes on profits in the UK. Thus, it is possible for someone to start up and operate as a web designer, an artist, an interior decorator or cleaner at short notice and with little administration required.
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Figure 2.1 The rising popularity of businesses without employees


Source: Business population estimates for the UK and regions 2018 (Department for Business, Energy & Industrial Strategy)





Many sole traders also enjoy not having to take orders from others. They like the freedom to make their own decisions, to decide when and where to work, what to do and how to do it. Working as a sole trader allows people to make decisions quickly as they do not have to consult or request permission from their boss. It can be incredibly motivating to be your own boss.


Another important advantage of being a sole trader is that any profits made by the business do not have to be shared. Many entrepreneurs begin and continue to trade as sole traders for these reasons.


The challenges of being a sole trader


While working as a sole trader can be very fulfilling, it also brings with it many challenges. Making all the decisions can be exciting, but there is the pressure of holding all the responsibility if anything goes wrong. When working with, or for someone else and there is a real problem, there is someone else to work with to solve it. Being a sole trader can be quite lonely – some people find it difficult to cope with this aspect of the pressure. The hours may be quite demanding, too. This is particularly likely to be an issue in the early years when an entrepreneur is trying hard to build up the business. Also, sole traders may not be able to take much time off for holidays because they may not be able to afford to close the business and risk losing customers.


Sole traders often face difficulties in raising finance to set up and expand their businesses. Major sources of finance are their own money (perhaps from savings or redundancy pay) or money from friends and family. Using these sources of finance means that the amount that can be raised is often quite limited. Of course, it is possible to borrow from a bank or other financial institution but they often charge smaller businesses quite high interest rates because they are worried about the risk of failure and want to cover their losses.


Being a sole trader is also quite risky if anything goes wrong. This is because sole traders have unlimited liability. The sole trader keeps any rewards the business makes, but is also personally responsible for any losses. If their businesses have problems, sole traders can lose their personal possessions such as houses and savings.
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Key terms [image: ]


A sole trader is a business that is owned and managed by one person, but it may employ other people.


Unlimited liability occurs when an individual or group of individuals is personally responsible for all the actions of their business. With sole traders, there is no distinction in law between the individual and the business so they could lose their personal assets if the business has financial problems.
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Business in focus: Jane’s social media [image: ]


Jane Binnion is a sole trader in Lancashire. Her business provides training to local businesses and other organisations on the use of social media such as Facebook and Twitter. Jane spent 25 years employed in a range of businesses. However, an injury led to her becoming unemployed and she retrained for her new role. In her own words: ‘I’m a great networker so I trained in social media, got a business adviser, a website, joined a start-up course and on March 10th 2011, aged 48 1/3, I launched Jane’s Social Media!’


Jane believes that the freedom to make decisions about working life, particularly working patterns, brings benefits to sole traders and their families. One of her reasons for starting Jane’s Social Media was that she needed more flexible working hours. ‘I work from home and ensure that 90 per cent of the time I am here when my daughter gets home from school. I have never been happier.’ Operating as a sole trader means such decisions will not be challenged.


Jane’s business can respond quickly to the needs of its customers and provide an individual service, helping it to achieve high levels of customer satisfaction. Jane’s Social Media promotes itself as providing: ‘a personal and very individual service that helps your company grow by getting you better connected via the appropriate social media platforms.’


Practice questions





1  Analyse the reasons why Jane wanted to be a sole trader.


(9 marks)



2  Do you think that operating as a sole trader means that a business will always be able to make good decisions?


(16 marks)
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	Advantages


	Disadvantages







	Making key decisions can be motivating.

	Sources of finance are limited.






	Decisions can be made quickly and sole traders can respond rapidly to changes in the market.

	Sole traders rely heavily on their own ability to make decisions.






	Sole traders often have direct contact with the market.

	It can entail working long hours, with limited holidays, leading to stress.






	Setting up is straightforward.

	The personal possessions of sole traders are vulnerable due to unlimited liability.







Table 2.1 The advantages and disadvantages of being a sole trader


2. Companies


Operating a business as a company can overcome many of the difficulties associated with being a sole trader. To set up a company, the owners have to complete various documents, including a Memorandum of Association and Articles of Association and register the business at Companies House. This process is known as incorporation.
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Key terms [image: ]


A company is a business organisation that has its own legal identity and that has limited liability.


Incorporation is the process of establishing a business as a separate legal identity that allows it to benefit from limited liability.


A shareholder is an investor in and one of the owners of a company.


Limited liability means that in the event of financial difficulties, the personal belongings of shareholders are safe.


Dividends are that part of a company’s profits that are paid to shareholders in proportion to the number of shares that they own.
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A company is owned by shareholders. Each share represents a part of the company. The more shares someone owns, the more of the company that belongs to them.


A company has its own legal identity, separate from that of its owners. The company can own property, equipment and other goods in its own right and is responsible for its own debts. If the company fails, the shareholders can lose the money that they invested in the business when they bought shares, but they cannot lose more than this. This is because a company has limited liability. This means that a company is responsible for the money it owes but that the personal possessions of its owners (shareholders) are safe. This is different from a sole trader, who has unlimited liability and could lose everything if the business had severe financial problems.


Having limited liability is essential for companies to be able to raise money by selling shares. Without it, investors would be far less likely to buy shares because of the risk to their personal possessions. If a shareholder invested in a business with unlimited liability it would mean giving money to others and risking everything. With limited liability, the maximum amount that could be lost is fixed.


The shareholders can potentially benefit in two ways from owning shares.





•  The value of the company and hence the value of the shareholders’ part ownership of the company may increase. In effect this increases the price at which the shares may be sold at a later date. However, company values and share prices can also fall – if, for example, investors become worried about the future of the business they may sell their shares and to find buyers the price might have to fall.



•  Shareholders may receive a share of the company’s profits, if they are sufficiently large. Profitable companies will distribute some of their profits to shareholders in proportion to the number of shares they hold. Profits paid to shareholders in this way are called dividends.





Trading as a company means that the business must pay to have its accounts checked annually by independent accountants (called auditors). Furthermore, the company accounts must be made public, so that outsiders can see the revenue and profits of the business, as well as what it owes. This means that a company’s affairs are less private than for a sole trader.


Companies in the UK are divided into two legal categories: private limited and public limited companies.


(a) Private limited companies


Private limited companies have ‘Ltd’ after their names. They are generally smaller than public limited companies, and are relatively cheap to set up. It can cost only a few pounds to register a private limited company with the Registrar of Companies in the UK.


Private limited companies also benefit from limited liability. Normally this means that the liability of the shareholders is limited to the amount they invested in buying shares. However, for some private limited companies, limited liability takes the form of a guarantee that the owners of the company agree to pay if it fails. They cannot be required to pay more than they have guaranteed thereby limiting their liability.


As with all companies, they are owned by shareholders and the owners can place restrictions on who the shares are sold to in the future. For example, many (but not all) private limited companies are owned by families who limit the sale of shares to other members of the family – this makes sure that ‘outsiders’ do not become involved. Owners of shares in private limited companies cannot advertise their shares for sale – they have to sell them privately.
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Business in focus: Cargill [image: ]


Cargill is an American-owned multinational that describes itself as providing: ‘food, agriculture, financial and industrial products and services to the world.’ This statement reflects the diversity of Cargill’s business interests. It is heavily involved in global agriculture. It purchases and trades agricultural commodities, such as palm oil; the company breeds livestock and produces food ingredients such as starch and glucose syrup, vegetable oils and fats for processed foods and industrial use. It is also involved in the energy, steel and transport industries. Cargill also has significant interests in financial services industry.


Cargill was founded in 1865 and by 2014 it had 145,000 employees working in 67 countries. Cargill is a family-owned private company. The descendants of the founders own approximately 85 per cent of the company. Most of the company’s spectacular growth has been due to reinvestment of the company’s own profits. By refusing to become a public limited company, Cargill’s owners have denied themselves the opportunity to sell shares to the general public through markets such as the London Stock Exchange.


Source: Adapted from Cargill’s website


Practice questions





1  Analyse the benefits to Cargill resulting from trading as a private limited company.


(9 marks)



2  To what extent do you think it is possible for a business to become a major multinational organisation while remaining a private limited company?


(16 marks)
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There is a range of reasons why the owners of private limited companies might decide to retain this legal status, rather than becoming a public limited company.





•  The desire to retain control over the company. Becoming a public company is likely to be accompanied by the sale of large volumes of shares through stock exchanges. If a sufficient number are sold, it may be that the original owners only hold a minority of the company’s shares and that control of the business has passed to those who own the majority of the shares. It is possible for companies to raise capital by issuing shares which do not give their owners’ voting rights. However, companies and other organisations who purchase large quantities of the shares issued by public companies are likely to want to have a say in decision-making.



•  Taking decisions in the company’s long-term interests. If a private company converts to become a public company (through a process known as “going public”) many of the people and organisations who buy its shares will be seeking short-term profits in the form of dividends. This may put the senior managers of the company under pressure to make decisions which might generate attractive levels of profits over the next year or two, but may not be in the company’s best long-term interests. For example, pressure to improve profits may lead the senior managers of a company to use less environmentally-friendly production methods which could damage the company’s reputation in the long-term.



•  Enjoying the profits generated by the company. Going public and selling more shares means that there are more shareholders between whom dividends have to be shared. This results in a dilution of profits and potentially lower returns for the original owners of the business.





(b) Public limited companies


Public limited companies have the term ‘plc’ after their names and include many well-known businesses. Marks & Spencer, BSkyB and Vodafone are all examples of public companies based in the UK. Public companies tend to be much larger than private companies. One way to measure the size of a public limited company is through its market capitalisation. Market capitalisation is the total value of the issued shares of a public limited company. The value of a company’s market capitalisation is calculated by multiplying the company’s current share price by the number of shares outstanding (that is, the number of shares issued and held by shareholders).


As with private companies, public companies are owned by shareholders, but restrictions cannot be placed on the sale of these shares. Shareholders in public companies can sell their shares to whoever they like. This can cause problems if another firm starts to buy up shares in the business in an attempt to gain control of it. Some of the shareholders may want to resist this takeover, but they cannot stop fellow shareholders from selling their shares.
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	Company name

	Rank


	Market Capitalisation ($ bn) 31 March 2018







	Apple

	1


	851







	Alphabet

	2


	719







	Microsoft

	3


	703







	Amazon.com

	4


	701







	Tencent

	5


	496







	Berkshire Hathaway

	6


	492







	Alibaba

	7


	470







	Facebook

	8


	464







	JPMorgan Chase

	9


	375







	Johnson & Johnson

	10


	344








Table 2.3 Market capitalisation and the world’s largest companies, March 2018.


Source: ‘Global Top 100 companies by market capitalisation’ 31 March 2018 © PwC


What was the market capitalisation of the world’s largest three companies on 31 March 2018?
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Another difference between private and public limited companies is that shares in public companies can be advertised in the media. This is why the share prices of public companies are listed in the newspapers, but not those of private companies. Most companies become public because they want to advertise their shares to the general public and raise relatively large sums of money.


If the owners of a private company do not need to raise large sums via the sale of shares and want to maintain control over their company then they probably would not want to make it a public company.


There are benefits to businesses from trading as a public limited company.





•  Access to capital. Public limited companies are able to sell shares freely using stock exchanges, which are efficient markets for buying and selling shares. This enables them to raise large sums of capital to fund a range of activities without having to take out expensive loans. Raising capital through share issues means that public companies are not committed to fixed interest payments as is the case when taking out a loan. The amount public companies pay shareholders in the form of dividends will reflect the profitability of the business and will not be more than it can afford.



•  Publicity. Public limited companies are often in the media because of their size and importance. This has the possibility of generating a lot of free, or at least low-cost publicity, which can enhance the company’s public image.



•  The ability to take over other companies. Public limited companies are more able to buy other companies as they have access to capital through selling shares. They can also purchase other companies by offering the target company’s shareholders their own shares in part or full payment. This can make it easier for public companies to grow relatively quickly.





Reasons for changing business forms


Growth is a key factor encouraging businesses to change their forms. As a sole trader business becomes larger, the owner may decide that it requires more access to capital and that the protection of limited liability is vital and the business’s potential to incur debts increases. This may result in a business becoming a private limited company. The desire to access more capital and attain a higher profile may result in companies opting to ‘go public’ and convert from private limited to public limited status.


The UK has seen numerous businesses transfer from the public sector to the private sector in a process known as privatisation. The popularity of privatisation in the UK and elsewhere can be explained by its ability to raise large sums of capital for governments and by the belief among many decision-makers that businesses tend to be more efficient when run privately rather than by the state.
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Key terms [image: ]


A takeover occurs when one company acquires control of another by buying more than 50 per cent of its share capital.


Privatisation is the process under which the state sells businesses that it has previously owned and managed to private individuals and businesses.
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Public sector businesses


The public sector comprises the organisations that are owned by (and sometimes funded by) national or local government. There are three major elements of the public sector:





•  Public corporations. These are enterprises owned by the state but offering products for sale to the public and private sector businesses. These may be managed by central government (such as Channel 4 television) or by local governments, for example, Manchester Airport.



•  Public services. This category of the public sector includes organisations that provide services to the whole nation. The National Health Service (NHS) is an example.



•  Municipal services. These are services offered by local governments and councils. Examples include libraries and leisure centres.
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Figure 2.2 Number of business in the UK private sector with and without employees, by legal status, start of 2017





Source: PwC





1  What is the number of businesses in the UK at the start of 2017 that were sole proprietors (sole traders)?



2  What is the number of companies in the UK at the start of 2017 that had no employees?
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The size of the public sector in the UK has declined due to a series of privatisations in the 1980s and 1990s. This resulted in the sale of a large number of government-owned industries to the private sector. British Rail, the water and electricity supply industries were privatised along with British Telecommunications (BT). The aim was to increase the efficiency of these industries and to reduce the need for government subsidies. This resulted in many job losses, for example, in the coal industry, as the new owners sought to create competitive businesses.


Not-for-profit businesses


Not all enterprises are set up to make a profit. For example, local sports clubs, government organisations and charities do not have profit as their main objective. They are set up for some other purpose and can be part of the public sector or part of the private sector.


Social enterprises, for example, are businesses that have social aims and trade in order to benefit the community or society in general. Examples of social aims are job creation and training, providing community services and ‘fair trade’ with developing countries. Well-known social enterprises include Cafédirect, The Big Issue, The Co-operative Group, the Eden Project and Jamie Oliver’s apprentice programme Fifteen. Many others (over 55,000) exist, operating in a wide range of industries from farmers’ markets and recycling companies to transport providers and childcare.


The owners of not-for-profit businesses operate them for a variety of reasons. They may have a strong belief in a particular issue, such as protecting the environment or caring for animals and therefore establish a charitable business to raise funds for their particular cause.


Others may be established to provide a hobby or to replace employment. Jamie Oliver has invested heavily in his restaurant chain Fifteen in part because he believes in offering a chance to unemployed young people to acquire cooking skills. His website summarises the reasons he established the chain to offer young, unemployed people the chance to gain employment skills in a restaurant.
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Business in focus: Wikipedia [image: ]


Wikipedia is a multilingual, web-based, free-content encyclopedia project supported by the Wikimedia Foundation and based on a model of openly editable content. The name “Wikipedia” is derived from the words wiki (a technology for creating collaborative websites, from the Hawaiian word wiki, meaning “quick”) and encyclopedia. Wikipedia’s articles provide links designed to guide the user to related pages with additional information. Wikipedia is written collaboratively by largely anonymous volunteers who write without pay. Anyone with internet access can write and make changes to Wikipedia articles, except in limited cases where editing is restricted to prevent disruption or vandalism. Users can contribute anonymously, under a pseudonym, or, if they choose to, with their real identity. The fundamental principles by which Wikipedia operates are the five pillars. The Wikipedia community has developed many policies and guidelines to improve the encyclopedia; however, it is not a formal requirement to be familiar with them before contributing.


Since its creation in 2001, Wikipedia has grown rapidly into one of the largest reference websites, attracting 374 million unique visitors monthly as of September 2015. There are about 72,000 active contributors working on more than 48,000,000 articles in 302 languages. As of today, there are 5,721,028 articles in English. Every day, hundreds of thousands of visitors from around the world collectively make tens of thousands of edits and create thousands of new articles to augment the knowledge held by the Wikipedia encyclopedia.


Source: Wikipedia


Practice questions





1  Analyse why so many people work for Wikipedia without pay.


(9 marks)



2  ‘The only businesses that are good for society are not-for-profit businesses.’ Do you agree with this view?


(16 marks)
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‘Fifteen represents the way I would have loved to have been taught myself; it embraces many of the things I love and feel passionate about, not only in the catering industry but also in friendship and family life.’ Jamie Oliver (www.jamieoliver.com)


Mutual businesses


Mutual businesses are characterised by the fact that they are run for the benefit of their members, whether they are employees, customers, suppliers or the local community. In contrast, most public companies are owned and controlled by outside investors.


Mutuals can be based on a variety of different legal structures. However, there is a legal structure developed solely for mutual businesses that offers the benefit of limited liability. This is the Industrial and Provident Society (IPS). Some mutual businesses use this legal structure whereas others, including many co-operatives, are limited companies.


Co-operatives are a well-known example of mutual businesses and are run by groups of people (called members) each of whom has a say in the management of the business. Co-operatives must reflect four ethical values: honesty, openness, social responsibility and caring for others. They should also operate according to the following principles: voluntary and open membership, democratic member control, provision of education, provision of training and information and concern for the community.


Different types of co-operatives exist:





•  consumer co-operatives, in which customers are the members of the business



•  worker co-operatives, owned and operated by employees



•   producer co-operatives, where a group of businesses work together to benefit from factors such as increased bargaining power.





Co-operatives can be popular but some have faced criticism for not employing sufficient or suitably skilled professional managers, instead relying on elected members who may be well intentioned, but not suited to their roles.


Shareholders and share prices


We saw earlier that companies sell shares to raise capital for a variety of reasons and that public companies can sell shares freely.


Who buys shares?


In the UK, financial institutions such as banks, pension funds and insurance companies own most company shares. These organisations buy shares to make a profit through the dividends they receive and by selling the shares at a higher price later on. They can then pass their profits on to their own investors.
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Business in focus: Top holders of shares in UK plcs [image: ]






	 

	FTSE 100







	Rest of world

	56.0







	Individuals

	9.5







	Unit trusts

	9.1







	Other financial institutions

	8.1







	Insurance companies

	5.0







	Pension funds

	3.0







	Public sector

	1.5







	Private non-financial companies

	2.6







	Investment trusts

	2.0







	Banks

	2.0







	Charities, churches etc.

	1.1







	Total

	100.0








Table 2.2 Share ownership in the UK 2016


Source: Office for National Statistic


Practice questions





1  A significant proportion of shares of UK plcs are owned by financial institutions. Analyse the possible impact of this on the decisions of managers.


(9 marks)



2  To what extent do you think who owns a plc affects its success?


16 marks)
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The reasons for and risks of buying shares


Shareholders invest in business primarily for financial reasons. They may benefit (hopefully) from an increase in the share price and from receiving a share of the profits in the form of dividends. The more profit a firm makes, the bigger the dividends are likely to be. Some shareholders invest to make a quick return and may seek out risky companies that may offer high returns. Other groups of investors, such as pension funds and insurance companies, who have large sums of other people’s money to invest, may seek longer-term, more secure returns.


However, there is a substantial risk in buying shares in most circumstances. The price of shares can easily fall and this can be true of a well-managed and profitable business if the economy is not performing well.


Companies can also make lower profits than expected which means dividend payments for all types of shareholder may be lower than expected and also can have the side-effect of reducing share prices, at least in the short-term.
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What do you think? [image: ]


You are thinking of buying shares in a company. What would you want to know before deciding which ones to buy?
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The degree of risk involved in buying shares also depends on the type of shares that are purchased. Many shareholders purchase ordinary shares. These are the most risky type of share because the holders only receive a dividend after many other stakeholders in the company have received payments. Ordinary shareholders will only be paid after those who have lent the company money in the form of long-term loans or debentures. They also receive payment after those who have bought preference shares who receive a fixed payment. So, in a poor trading year, shareholders may receive little or no dividend. However, in a good year they may be well rewarded, as their payments are not fixed. The situation of ordinary shareholders illustrates how risk and reward go hand-in-hand.


The role of shareholders


Shareholders can influence the decision-making of companies. Most types of shares grant their owners voting rights. Each share is worth one vote. So, by buying more shares, people can get more votes and have a greater influence over what the company actually does. If someone, or more likely an organisation, owns more than 51 per cent of the shares in a company, they control the business and, therefore, can decide company policy.


All companies must have an Annual General Meeting (AGM) to which the shareholders are invited and every shareholder must receive a copy of the company’s Annual Report. The Annual Report reviews the performance of the business over the last year. At the AGM, the directors and managers give an overview of the company’s position and respond to any questions that shareholders might have.


In practice, it is relatively rare for shareholders in UK companies to have a strong influence on the policies and decisions of public companies. However, over recent years, shareholders have become increasingly critical about what they regard as unacceptably high levels of pay for senior managers and have on occasions voted against it at AGMs.


Influences on share prices


Share prices can be affected by a wide variety of issues but the two major factors are the company’s performance and the business environment in which it trades.


Public limited companies publish their financial results and provide trading updates twice a year. These communications provide the company’s stakeholders with a lot of information about the company’s performance. Companies are also obliged to give information about any event that could influence their share prices, such as a takeover bid. These are known as regulatory announcements.


If a company is performing well, and is expected to continue to do well, its share price should benefit. Share prices tend to anticipate the future, so they can rise if a company has good prospects and fall if the outlook is not promising.


Share prices are also affected by the business environment. If economic conditions are good and expected to continue that way, investors tend to feel confident. So good news about a country’s employment levels or positive data on manufacturing production, for example, will encourage investors and may help to push share prices up. Companies are more likely to perform well and deliver strong profits when the business environment is favourable as sales and product prices are likely to rise. As a consequence, they are likely to generate higher profits and pay rising dividends. Under such circumstances, demand for shares tends to rise and prices increase.


If the economic climate is troubled, as happens regularly in the UK and elsewhere, investors may feel nervous. They may worry that a company’s profitability will suffer if economic conditions are difficult. Fears about future profits tend to reduce demand for shares so prices may fall. This means that, in a challenging business environment, companies can see their share price fall, even if they are performing well. Equally, companies can benefit from a positive business environment and their share price may go up, even if the business is not performing well.


The significance of share prices


The effects of changes in the share price of an individual company


If a company’s share price alters it does not have a direct impact on the company’s immediate financial position. Remember the company that sold these shares at the time they were first made available to the public and received the capital inflow in return. Most, if not all, of this capital will have been invested into the company to provide assets such as property, vehicles and machinery as well as to finance the purchase of raw materials and to provide cash. Thus, if the share price rises or falls, it does not affect the amount of finance that the business has available at that time.


However, changes in share prices can have significant effects on a business over a slightly longer timescale.





•  Rising share prices. A rising share price tends to reflect well on the company’s management team – they are more likely to be considered to be doing a good job and may receive bonuses as a result. In many circumstances, a business may find it easier to raise capital when share prices are rising. Potential shareholders will be more willing to buy an asset that is rising in price; similarly banks may be more willing to offer loans to such companies, especially if they believe that the rising share price is the result of the business performing well. These arguments are particularly relevant if a company’s share price is performing better than share prices generally.



•  Falling share prices. This may be judged to be the result of a poor performance by the management team and may make it difficult for it to raise capital. It may also make the company vulnerable to a takeover as the cost of buying a controlling interest in the company is reduced. This is more likely to be the case if the company’s share price is considered to be too low, making it undervalued. However, this might be a response to a short-term factor, such as profits being below expectations and not be an indication of the company’s likely long-term performance.





Obviously the longer the trend in share prices lasts, the greater the impact. Thus a prolonged decline in share prices might affect a company’s ability to recruit top-quality employees or to raise finance for major investments.


The effects of a general change in share prices


If there is a substantial fall in share prices for most companies the effects on businesses generally can be significant. At a time of falling share prices, many consumers and organisations that have invested in shares may feel that their wealth is declining and cut their spending accordingly. This reduces the sales made by a wide range of businesses, which in turn reduce their own spending, ‘multiplying’ the negative effect. This can provoke an economic recession, where the level of national production declines over a period of at least six months.


A period of rising share prices can have the opposite effect, causing a positive wealth effect and making it easier for companies to raise capital by issuing new shares.
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Figure 2.3 UK’s FTSE, 1997–2016





Source: Office for National Statistics


The FTSE 100 measures the value of the 100 largest companies in the UK in terms of market capitalisation. Figure 2.3 shows there was a very sharp fall in share prices during 2008 and early 2009. During this time the share prices of many well-managed, profitable companies fell sharply as their sales dipped and nervous shareholders sold their shares, depressing share prices further.





1  What is the percentage change in the FTSE 100 between July 1997 and July 2017?



2  Who do you think this change will have affected?



3  Why do you think the FTSE 100 changes so much over time?
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The effects of ownership on businesses


1. The effects of ownership on mission


We saw in Chapter 1 that a business’s mission sets out what it is trying to achieve, that is, the reason it exists. The type of ownership may have a considerable impact on the organisation’s overall direction. Thus, for example, a public limited company is likely to have a mission that will allow it to provide sufficient financial rewards to its shareholders. Nike’s Mission: ‘Bring inspiration and innovation to every athlete in the world (if you have a body, you are an athlete).’ Succeeding in this mission will allow the American sportswear company to produce popular and valued products that will generate high profits with which to reward its shareholders. In contrast, the Midcounties Co-operative, based in the English Midlands, strives to ‘be a successful consumer co-operative working towards creating a better, fairer world and to enhance the lives of our colleagues, members, customers, and the communities we serve’. This mission is unlikely to result in the business seeking to maximise its profits but in operating in a way that benefits communities and many of its stakeholders.


2. The effects of ownership on objectives


A business’s mission naturally gives rise to the objectives that it follows. Thus Nike may seek to achieve its mission by setting objectives relating to achieving a certain level of sales, producing innovative products regularly or being the leading company in its market. The Midcounties Co-operative may operate with objectives relating to the impact its business has on its stakeholders and the communities it serves.






	Type of business


	The effects on:







	Mission


	Objectives


	Decisions


	Performance







	Sole trader


	May be unlikely to have a mission, but sole owner provides sense of direction.

	May centre around meeting personal goals such as generating sufficient income.

	Potentially rapid and responsive, but lacking support and possibly information.

	Ownership allows business to be responsive to customers’ needs, but may not be too price competitive.






	Private limited company


	Mission may centre on maintaining family-run business or on reputation.

	Could relate to a satisfactory level of profits or financial stability to ensure continued survival.

	More complex as more people likely to be involved. May have more information available and some specialist input.

	Scale of this type of business varies hugely. Performance could be based meeting personal needs or on benefits of being large scale.






	Public limited Company


	Mission can play an important role to project the company’s image and to provide a focus for consistent decision-making.

	Likely to relate to costs, prices, business image and market share and link to financial performance in the longer term.

	Can be very complex and have long-term implications. Some decisions require specialist input and need to be based on extensive information. Many routine decisions also need to be made.

	Access to capital and pressure from shareholders likely to place emphasis on being competitive in terms of price, customer service or desirable products.






	Not-for-profit


	Mission can be important in establishing the ethos of the business and underpinning all decision-making.

	Likely to be non-financial and can be less easy to measure such as benefiting the community or protecting the environment.

	May lack specialists. Desire to meet social or other objectives may cloud judgements.

	Probably measured in non-financial terms, but need to perform well enough financially to meet other goals.







Table 2.3 The effects of ownership
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Business in focus: The Co-operative Group [image: ]


We’re one of the world’s largest consumer cooperatives, owned by millions of members. We’re the UK’s fifth biggest food retailer with more than 2,500 local, convenience and medium-sized stores.


We’re also:





•  the UK’s number one funeral services provider



•  a major general insurer



•  a growing legal services business.





As well as having clear financial and operational objectives and employing nearly 70,000 people, we’re a recognised leader for our social goals and community-led programmes. We exist to meet members’ needs and stand up for the things they believe in.


So, the more successful we are, the more we can give back to you and your local community.


That’s why we’re different.


Source: The Co-Operative’s website Our co-op, Why we’re different © Co-operative Group Limited


Practice questions





1  Analyse how the Co-operative Group might measure its performance.


(9 marks)



2  Analyse how the co-operative model might affect the decisions managers make.


(16 marks)
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3. The effects of ownership on decisions


The type of business is likely to have an impact on the complexity of the decisions that have to be made as well as the speed of decision making. At times, public companies have to make major decisions with enormous implications for the business. Major decisions such as the takeover of another business would have been researched thoroughly beforehand to determine the effect of the decision on key stakeholders such as customers, employees and shareholders and may have taken time to complete because of this and the extent of communication involved. To an extent, it is the scale of the business and its operations that determine the complexity and need for information and expertise in taking this type of decision, but most larger businesses are public companies.


At the other end of the scale, decision making can be a strength for small, sole trader businesses. Decisions are likely to be less complex and involve fewer participants, speeding and simplifying the process. This enables sole traders to be responsive to changes in their markets.


4. The effects on performance


The performance of a business can be measured in many ways, not just on its profits. It is influenced by a wide range of factors such as the state of the economy and technological changes, as well as the form of business that is adopted.


However, it is true to say that larger organisations, which are mainly public companies, may be able to produce at lower costs due to the use of specialist employees and up-to-date technology. This offers the potential to increase profits. Similarly, public companies may be more innovative (as they can spend large sums on researching new products) and this may enhance their performance, as in the case of Apple. Not-for-profit businesses may judge their performance in other ways, and not simply financially. Thus they may measure performance in terms of raising public awareness for an issue or on alleviating poverty.
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ASSESSMENT ACTIVITIES [image: ]


(a) Knowledge check questions




  1  State two reasons why an entrepreneur may choose to operate a business as a sole trader.


  2  What is meant by the term ‘unlimited liability’?


  3  Is the following statement true or false? ‘A company is owned by its stakeholders.’


  4  State two differences between a private limited company and a public limited company.


  5  What is meant by the term ‘privatisation’?


  6  Finn plc has a current share price of 75 pence and has issued 725 million shares. It currently has £275 million in outstanding bank loans. What is its market capitalisation?







      i    £543,750,000


      ii   £54,375,000,000


      iii  £286,750,000


      iv  £54,100,000,000







  7  What is the difference between a public company and a public corporation?


  8  What are mutual businesses?


  9  State two factors that might influence the share price of a public company.



10  Is the following statement true or false? ‘If a public company’s share price falls this immediately reduces the amount of capital available to the business.’





(b) Short answer questions




  1  Explain one effect of a significant fall in a share price on the company concerned.


(3 marks)


  2  Explain why the owners of a private limited company might want to convert it to a public limited company.


(6 marks)


  3  Explain why sole traders are the most popular form of business in the UK.


(6 marks)


  4  Benacre plc manufactures a range of components for high technology products such as mobile phones. It is very profitable and has a rising share price. Explain two risks in buying shares in Benacre plc.


(6 marks)





(c) Data response questions


Spotify


Spotify is a music streaming business. It was started in 2008 and is now available in 65 countries. Many of its listeners use the free service (paid for by ads). The company has around 71 million users who pay a subscription but is yet to make a profit. In 2018, the company went public with its shares trading on the Stock Exchange for the first time. The shares initially sold for around $165 but closed on the first day at nearer $149. This meant the market capitalisation of the business was over $26 billion.


Source: Adapted from BBC News, April 2018, ‘Spotify shares dip on first day of trading’




  1  Explain how Spotify can be earning a revenue but makes a loss.


(5 marks)


  2  Analyse the factors that would have influenced Spotify’s share price when it went public.


(9 marks)


  3  To what extent does it matter whether Spotify makes a profit?


(16 marks)





(d) Essays




  1  Do you think it is inevitable that a mutual busicness will perform less well than a public limited company when trading in a competitive market? Justify your view.


(25 marks)


  2  Thousands of UK businesses fail every year. To what extent does this make it essential for all entrepreneurs to establish their businesses as private limited companies and not sole traders?


(25 marks)
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Chapter 3 Understanding that businesses operate within an external environment
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Introduction


This chapter takes you outside the business itself to consider the external forces that can impact upon businesses large and small. The scope of this chapter is very precise as the external environment is an extensive topic and one that could not be covered effectively in a single, relatively short chapter. Thus we will consider a limited range of external factors and we will further limit the scope of this chapter by examining how these chosen external factors impact upon a business’s costs and the level of demand (or sales) it experiences for its products. We will look at other elements of the external environment and consider how businesses respond to change in this environment in later chapters.


What it is important to know by the end of this chapter:





•  The ways in which the following elements of a business’s external environment may affect its costs and demand:








•  market conditions and competition



•  incomes



•  interest rates



•  demographic factors



•  environmental issues and fair trade.





What is the external environment?


All businesses, whether large or small or whether supplying services or goods, operate within an external environment. The external environment comprises those external forces that can influence a business’s activities. These forces might arise from a number of possible sources, as summarised in Figure 3.1. We will look at each of them in detail in the following section.


These forces are unpredictable and can change suddenly without warning. We saw in the UK in 2008–09 that, as a result of the financial crisis, incomes and spending by UK consumers fell significantly and unexpectedly, resulting in many businesses suffering large falls in demand for their products. More recently, concern about the UK’s trading relationship with other European countries and how the UK might exit the European Union has caused uncertainty for business and delayed investment decisions.
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Figure 3.1 Some factors that shape the external environment for businesses





A further example of the effects of a change in the external environment is the relationship between interest rates and incomes. A rise in interest rates may mean that consumers have to pay more on any loans they have arranged (and especially on mortgages) leaving less income available to spend on other goods and services.


The effects of changes in the external environment


External forces have the power to affect a business’s activities in a number of ways. In this chapter we will focus on the effects of changes in the external environment on the level of demand for a business’s goods and services and on the costs that it incurs in producing those goods and services.


It is important to understand that these external forces can have both positive and negative effects on a business’s costs and its sales. For example, an increase in competition might result in a fall in sales for a company, as in the case of Tesco. In contrast, an increase in competition in a market from which a business buys raw materials or components might result in prices falling, thereby reducing the business’s costs of production. Increased levels of competition in the food manufacturing industry may result in lower prices for tinned or frozen foods. This may result in lower prices for grocery retailers such as Tesco. This would enable the company to reduce its prices or to maintain them and enjoy higher profits on the sale of each product.






	Positive factors


	Negative factors







	




•  A product becomes popular or fashionable, raising demand



•  A major competitor leaves a market



•  The number of consumers in a country increases



•  Interest rates fall, making it cheaper to borrow money to buy products



•  Consumers enjoy steadily rising incomes, increasing demand for products





	




•  Consumers demand environmentally friendly products, increasing businesses’ costs



•  New businesses enter a market, increasing the degree of competition



•  A market is over-supplied with products, depressing prices



•  More people become unemployed, reducing consumers’ incomes and spending











Table 3.1 A selection of positive and negative factors arising from changes in the external environment


The components of the external environment


The factors considered represent some of the elements that make up the external environment for all types of business.


1. Market conditions and competition


This part of the external environment contains two interrelated elements.





•  Market conditions is a broad term that encompasses a number of factors which can affect a market. Good market conditions would include rising sales figures and possibly rising prices. This would be particularly attractive if sales were rising at a similar rate. Further elements of good market conditions would include competition that is not too threatening and perhaps a shortage of supply of products, which would encourage prices to continue to rise.



•  Competition is a part of the conditions of a market but is worthy of a separate mention. The competitive element of a business’s external environment includes the number, size and power of rivals and potential rivals that a business faces in its battle to win customers.
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Key terms [image: ]


Market conditions refers to number of features of a market such as the level of sales, the rate at which they are changing and the number and strength of competitors.


Demand is a term used by economists to indicate the amount of a particular good or service that consumers or organisations want, and can afford, to buy at given prices. It shows the level of sales that businesses can expect.
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Changes in the conditions of a market and/or the degree of competition can impact negatively on both the level of demand or sales achieved by a business and also the costs that it incurs. For example, the entry of a rival into a market can have a series of consequences for the businesses already operating in that market, especially if the entrant is a large and competitive business. For example, a new entrant may reduce the demand of existing businesses; it may also invest heavily in marketing initiatives to gain sales, forcing established firms to also increase their spending to try and protect sales.


A range of other factors can have adverse effects on the conditions faced by businesses in a specific market.





•  Some markets are vulnerable to large and dramatic changes in demand – this is more common in markets such as those for fashion or technological products where new products are launched more frequently.



•  Existing suppliers may join together to form larger and more competitive businesses.



•  Consumers may become more price-conscious, putting suppliers under pressure to match these expectations.



•  One business may launch a new, innovative product that makes existing products appear relatively obsolete. This is likely to result in other businesses losing sales and having to invest in developing their own updated products in response.





Of course market conditions can move in favour of businesses as well. For example, demand for a particular product may increase in popularity, which may also result in higher prices being received by producers in that market. A major business may leave a specific market, leaving its customers available to those businesses that remain.


2. Incomes


A major influence on the demand for a business’s products is the level of income earned by its customers. In many cases, rises in the level of income earned will result in increased sales. Consumers’ incomes are determined by the level of a nation’s gross domestic product (GDP) in that a rise in GDP will increase the incomes received by many consumers. A rise in GDP is likely to result in a rise in demand for many products as consumers and businesses increase spending on a range of goods and services.


Incomes and the level of demand for goods and services


It can be seen in Figure 3.2 that the rate of change of GDP in the UK, measured quarterly or over a period of three months, has varied significantly even over a relatively short three-year period. In 2012 and early 2013, there were quarters in which the UK’s growth in GDP was negative. This means that the value of production in the UK fell during these quarters and, since production fell in value, the incomes paid to people and business organisations to produce these goods and services would also have declined. Fewer people would have been employed, resulting in increasing numbers receiving benefits rather than wages. The incomes of those remaining in employment would fall, for example, as opportunities to work extra hours became less common. As a consequence, it is likely that many businesses experienced a fall in demand for their products during these times in which consumers’ incomes declined.


In contrast, since late 2013 the UK has enjoyed a period of steady increases in GDP. This means that consumers and businesses in the UK have seen their real incomes rise which, assuming they choose not to increase their savings, could lead to a similar increase in demand for goods and services.
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Key term [image: ]


Real incomes are incomes that are adjusted for the rate of inflation (or increase in prices) to show changes in purchasing power.
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Handling data [image: ]
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Figure 3.2 UK’s GDP growth rate 2008–18





Source: ONS





1  What does the above diagram show about UK economic growth 2008–2009?



2  What has economic growth been like in the last few years?



3  What is the significance of this data for businesses?
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There is a positive relationship between incomes and the level of demand for products that are considered luxury items rather than necessities. Thus companies selling holidays in exotic destinations may experience a substantial rise in demand if the level of earnings in a country generally rises. This positive relationship may be less evident for products considered to be essential such as basic foodstuffs. Table 3.2 illustrates the businesses that might see a rise in demand following an increase in incomes and those that may be expected to benefit little, if at all, from rising incomes. Even within these two categories the sensitivity of demand or sales to income can vary. For example, jewellery sales may be highly sensitive to income levels as they are considered to be a luxury good, while consumers may be less willing to reduce demand for restaurant meals even when their incomes are falling.


We explore the relationship between the income received by consumers and organisations and their levels of demand for goods and services as part of a theory called income elasticity of demand. This is covered on pages 100–102.






	Products for which demand is strongly influenced by income levels


	Products for which income has little influence on demand







	



•  jewellery


•  luxury electrical items (e.g. widescreen HD televisions)


•  restaurant meals


•  long-haul holidays


•  household furniture





	



•  bread, milk and other basic foods


•  cigarettes and tobacco


•  petrol


•  water


•  lottery tickets











Table 3.2 Products for which demand is dependent upon incomes and those with little or no relationship


Incomes and the costs of production


Changes in the level of income do not only affect the level of demand for a business’s products, it can also impact on costs of production. If income levels are rising rapidly in an economy, as has been the case in China where GDP has increased at an annual rate of around 10 per cent, then wages will be rising too. This can result in businesses facing sharp increases in costs, especially if they rely heavily on labour in their production processes. This may result in difficulties in maintaining competitiveness in terms of prices.


The opposite can apply during periods in which GDP is falling, especially if this occurs for a prolonged period.


3. Interest rates


Interest rates are normally expressed as a percentage. A bank may allow a business to borrow money at an interest rate of 10 per cent. This means the business will have to pay a charge of 10 per cent of the amount borrowed for each year that the loan lasts. Most textbooks and media refer to the interest rate as if there is only a single rate. In fact, a range of interest rates operates in the UK at any time. Interest rates operating in the UK economy depend on the length of the loan and the amount of risk associated with it. However, the authorities in the UK set the base rate and all other interest rates relate to this.
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Key term [image: ]


Interest rates are the price of borrowed money.
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In May 1997, the government gave the Bank of England responsibility for setting interest rates. The Bank of England’s Monetary Policy Committee (MPC) meets each month and takes decisions on whether to alter the base rate of interest.


Changes in interest rates have significant effects on businesses and the environment in which they operate. Recent UK governments have relied heavily upon interest rates to control the level of economic activity in the economy and to avoid the worst effects of the fluctuations in the level of business activity. Since 2009, interest rates in the UK have been relatively low to encourage borrowing and discourage saving. This helps to increase demand for many products and so can boost production and employment levels.


Interest rates and the level of demand


Interest rates affect the level of spending by UK citizens and thus the level of demand for businesses’ products. The level of their spending is dependent upon interest rates for a number of reasons.





•  Consumers are more likely to take a decision to save during a period in which interest rates are rising. The return on their saving is greater and will persuade some consumers to postpone spending decisions, reducing demand. Conversely, when rates are falling consumers might save less and spend more.



•  Changes in interest rates alter the cost of borrowing. Many goods are purchased on credit, for example, cars and satellite TV systems. If rates fall then the cost of purchasing these goods on credit will decline, persuading more people to buy the product. Demand for consumer durables is sensitive to interest rate rises and sales of these products decline significantly following an upward movement in the base rate.



•  An increasing number of UK consumers have mortgages. A rise in interest rates will increase the amount paid each month by householders. This reduces the income available for expenditure on other products. Demand for a range of products will fall in these circumstances. A fall in rates will have the opposite effect.



•  Britain’s population is steadily ageing, meaning that more people are dependent upon pensions and savings. This means that their income (which is often based on earnings from savings and investments) is highly dependent upon the rate of interest and this makes consumer expenditure highly sensitive to rate changes.





Businesses, interest rates and costs


Interest rates affect businesses in a number of ways. It is not simply a case of whether they rise or fall: businesses also take into account the overall level of rates. A small increase in interest rates may have little impact if rates are low. This is unlikely to be the case when rates are high before the change is introduced.
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Figure 3.3 The effects on businesses of changes in interest rates





A rise in interest rates will increase the costs of production for many businesses. This occurs because most businesses borrow money and are therefore subject to interest charges. A rise in interest rates will therefore increase their costs. Businesses may borrow in the short term to fund their day-to-day operations or long-term for investment purposes.


There is also a relationship between interest rates and the exchange rate of a currency. Thus if the Bank of England increases the base rate of interest in the UK, it is likely that the exchange rate of the pound will rise. This will result in imports of goods and services from overseas becoming cheaper, which may benefit businesses that import raw materials, components or services from other countries. However, this will also make UK exporters’ products more expensive overseas.


Not all businesses will be affected equally by changes in interest rates. Those that have high levels of borrowing could benefit from a fall or be penalised by an increase in interest rates if the rates charged on their loans are variable. Some businesses can protect themselves by arranging fixed-rate loans, meaning that the interest charged will remain constant throughout the duration of the loan.
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Figure 3.4 UK interest rates rise to 0.75%.





Source: Bank of England





1  Why do you think the Bank of England has kept interest rates at the levels shown above?



2  What do you think the changes in the interest rate shown above might mean for business?
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4. Demographic factors



Demography is the study of human populations. Demographic factors are factors relating to the population. The size and make-up of a population in terms of age can have important implications for businesses. The human population of a country represents two stakeholder groups for businesses: it provides the workforce and represents consumers. Thus, changes in population can impact upon a business’s costs of production as well as the level of demand for its products.
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Key terms [image: ]


Demography is the study of human populations.


Demographic factors are factors related to the population.
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According to the Office of National Statistics, the population of the UK has changed relatively rapidly in recent years. It has shown several notable trends, including the following:





•  The UK population is projected to increase by 3.6 million (5.5%) over the next 10 years, from an estimated 65.6 million in mid-2016 to 69.2 million in mid-2026.



•  England is projected to grow more quickly than the other UK nations: 5.9% between mid-2016 and mid-2026, compared with 4.2% for Northern Ireland, 3.2% for Scotland and 3.1% for Wales.



•  Over the next 10 years, 46% of UK population growth is projected to result from more births than deaths, with 54% resulting from net international migration.



•  The UK population is projected to pass 70 million by mid-2029 and be 72.9 million in mid-2041.



•  There will be an increasing number of older people; the proportion aged 85 and over is projected to double over the next 25 years.



•  The UK population growth rate is slower than in the 2014-based projections; the projected population is 0.6 million less in mid-2026 and 2.0 million less in mid-2041.





Source: Office for National Statistics


www.ons.gov.uk/peoplepopulationandcommunity/populationandmigration/populationprojections/bulletins/nationalpopulationprojections/2016basedstatisticalbulletin


The implications of the UK’s changing population


These changes in the UK’s population size and structure will have considerable implications for businesses. At the most simple level the increase in the size of the population can be expected to increase demand for most goods and services. Many migrants have relatively low incomes so the increase in demand may be more pronounced in businesses operating in certain markets, for example, those supplying public transport, rather than in markets for luxury products. The effect of migration has been regional within the UK. London and other cities as well as rural areas such as parts of East Anglia have received large numbers of migrants, prompting substantial rises in demand for local services such as health care.


The pattern of demand for goods and services will also be affected by the ageing of the UK’s population. Businesses supplying products associated with older age groups may experience a rise in demand simply because there are more people in these age groups.


Changes in population size and structure also affect the workforce that is available to businesses. The UK received large numbers of migrants from Eastern Europe after 2005. Many of these migrants were of working age and entered the UK to join the labour force. The high recent level of migration has increased the size of the UK’s workforce and will have helped to control wage costs as shortages of labour are less likely to occur.
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What do you think? [image: ]


Would all businesses in the UK benefit if migration to the UK was not controlled in any way?
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	Number of people







	Immigration into UK

	578,000







	Emigration from UK

	334,000








Table 3.3 Migration in the UK, 2018


Source: Office for National Statistics, 2018


What are the possible implications of the above data for UK business?


[image: ]






5. Environmental issues and fair trade



How the environment affects businesses


The media take a great interest in business activities in relation to the environment. When firms are found to be guilty of an act of pollution, adverse publicity is likely to follow. Society increasingly expects higher standards of environmental performance from businesses than in the past. Being seen to be environmentally friendly can represent an opportunity for businesses to differentiate themselves from competitors.


There are many potential causes of damage to the environment. A major environmental concern identified by the government is global warming. This is caused by the release of a mix of industrial gases (principally carbon dioxide) that has formed a layer around the earth. This layer allows the sun’s rays in but prevents heat escaping causing the so-called ‘greenhouse effect’. Other environmental problems include the pollution of rivers and land and the dumping of waste, some of which is toxic and harmful to wildlife and humans alike.


Businesses contribute in many ways to the creation of environmental damage.





•  The emission of gas through production processes.



•  Pollution caused by transporting raw materials and products, particularly using road vehicles that emit noxious gases and create congestion and noise. A report by the EU suggested that pollution from vehicles in the UK could be responsible for up to 40,000 deaths among elderly people each year.



•  The pollution of the sea by businesses using it as a ‘free’ dumping ground. The North Sea is one of the most polluted stretches of water in the world.



•  Destruction of natural environments as a result of activities such as logging (for example, cutting down trees for commercial purposes as in the Amazon rainforest) and the building of homes on greenfield sites.





Costs of polluting the environment


Businesses are acutely aware of their private costs, that is the costs of production they have to pay themselves, such as wages and expenses for raw materials. These are easy to calculate and form part of the assessment of profitability. However, environmental pressure groups and others have pressed for businesses to acknowledge the costs they create for other groups in society – the external costs of production.


Noise, congestion, air and water pollution all impose costs on other individuals and groups in society. A firm extracting gravel from a quarry may create a number of external costs. These could include congestion on local roads caused by their lorries. This would impose costs in terms of delay and noise pollution on local residents. The destruction of land caused by the quarrying could create an eyesore for people living nearby and may reduce the value of their properties. Dust may be discharged into the atmosphere. The quarrying firm will not automatically pay for these costs. It requires government action to ensure that they pay these external costs as well as their internal ones.


Thus, the total (or social) costs of production equal internal or private costs plus external costs borne by third parties. By ensuring that firms pay all the costs associated with the production of a product, governments can avoid what is termed market failure. Oversupply is one consequence of market failure because producers are not paying the full social costs of production and making the activity profitable and attractive to businesses.


Government legislation and the environment


The government has passed a series of Acts of Parliament designed to protect the environment. Two acts are of particular importance.





1.  The Environmental Protection Act, 1991 introduced the notion of integrated pollution control, recognising that to control only a single source of pollution is worthless as damage to one part of the environment means damage to it all. This Act requires businesses to minimise pollution as a whole.



2.  The Environment Act, 1995 established the Environment Agency with a brief of co-ordinating and overseeing environmental protection. The Act also covered the control of pollution, the conservation of the environment and made provision for restoring contaminated land and abandoned mines.





The UK Government imposes fines on firms who breach legislation relating to the protection of the environment. These are intended to force firms to bear the full social costs of their production (including external costs) although environmental pressure groups and other critics believe that the sums are not sufficient to deter major businesses with budgets of billions of pounds annually. The Government also attempts to encourage ‘greener’ methods of production through the provision of grants. It has also created the Carbon Trust, which gives capital grants to firms who invest in energy-saving technologies.


The EU has also passed hundreds of directives relating to environmental protection. The UK is also a signatory to a number of international agreements intended to provide environmental protection on a global scale. For example, the UK Government has attended a number of Earth Summits at which targets for reducing the production of carbon dioxide have been agreed.


The environment, costs and demand


Being environmentally friendly (or at least being believed to be so) by consumers offers businesses a number of advantages. It can form the basis for highly effective and distinctive promotion and can lead to increased recognition of the brand and possibly the opportunity to charge higher prices. This can enable relatively small businesses to compete with larger ones. Many large businesses have recognised the benefits of projecting an environmentally friendly image. Unilever, the Anglo-Dutch multinational consumer products company, which is responsible for well-known brands such as Ben & Jerry’s, Knorr and Dove, has publicised its environmentally friendly approach widely. It intends to reduce the effects of its operations on the environment by 50 per cent by 2020. Such an approach may be particularly productive when rival products are not differentiated in other ways.


Opting to become more environmentally friendly can increase costs for many businesses. It may involve investing in new production processes that produce fewer emissions or waste and therefore lower pollution. Alternatively it may entail using resources from sustainable sources, which are frequently more expensive. Both factors may push up the costs of production, making it more difficult for the businesses concerned to compete with rivals. However, this is not inevitably the case. Many businesses have sought to cut energy usage to reduce their adverse impact on the environment. Du Pont, the American chemical company, committed itself to a 65 per cent reduction in greenhouse gas emissions in the 10 years prior to 2010. By 2007, DuPont was saving £1.3 billion annually as a result of reduced energy use, equal to its total profits that year.
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What do you think? [image: ]


Do the benefits of operating in an environmentally friendly manner always outweigh the drawbacks?
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Fair trade


Fair trade is a social movement that operates with the goal of assisting businesses in less-developed countries to achieve improved trading terms. The movement hopes to improve living standards in the less-developed countries and to promote sustainable methods of production. This movement supports the paying of higher prices to producers, who are often exporters to consumers in developed countries. There is a wide range of fair trade products available to consumers in the UK and other developed countries, most notably coffee, sugar, tea, bananas, wine and cotton.
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Key terms [image: ]


Fair trade is a social movement that exists to promote improved trading terms and living conditions for producers of products in less-developed countries.


Sustainable production occurs when the supply of a product does not impose costs on future generations by, for example, depleting non-renewable resources.
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The impacts of fair trade for businesses are similar to those of environmentally friendly production. Selling fair trade products has the potential to allow businesses to charge higher prices without an unacceptable loss of sales. It may however, limit businesses to selling to a smaller group of consumers for whom supporting producers in less developed countries through free trade is an important issue. It is also likely to increase costs as paying a ‘fair’ price is a cornerstone of the movement.
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ASSESSMENT ACTIVITIES [image: ]


(a) Knowledge check questions




  1  Identify two factors that make up the external environment for a business.


  2  What is meant by the term market conditions?


  3  Is the following statement true or false? ‘Real wages are an employee’s wages adjusted to allow for the rate of price increase or inflation.’


  4  State two products for which income has little influence on the level of demand.


  5  What is meant by the term interest rates?


  6  Is the following statement true or false? ‘The level of savings tends to rise when interest rates fall.’


  7  State two factors that may lead to a change in the size of a country’s population.


  8  Is the following statement true or false? ‘Changes in the size of a country’s population will only affect local businesses by altering the level of demand for the products they produce.’


  9  State one benefit to a business arising from it adopting policies to become environmentally friendly.



10  What is meant by the term fair trade?





(b) Short answer questions




  1  Explain the difference between incomes and real incomes.


(4 marks)


  2  Explain why a decision by a manufacturer to produce environmentally friendly products might increase its production costs.


(5 marks)


  3  Explain one reason why a grocery retailer might decide to sell fair trade products.


(5 marks)


  4  Explain why a fall in interest rates might have a significant impact on demand for new houses.


(6 marks)





(c) Data response questions


Handel Ltd is based in Lincolnshire and produces frozen foods from products supplied mainly by local farmers. It has a strong reputation for supplying basic foodstuffs at very competitive prices. The company is long established, has good facilities and very low levels of borrowing. The company employs large numbers of unskilled workers in its factories as it aims to keep its costs as low as possible. Its business is seasonal and it requires larger numbers of employees during peak seasons.


The company’s external environment is undergoing a period of rapid change. The Bank of England has just announced an increase in interest rates, and net migration also increased recently. Approximately 12,500 migrants entered Lincolnshire in the last twelve months.


Most notably, a new German food-processing company has recently established a new high-technology factory in Lincolnshire, investing £35 million, and is targeting the UK food market. It sells a range of foods, mainly focusing on the higher price end of the market, although its efficient use of technology allows it to be very price competitive.




  1  Explain why the rise in interest rates will only have a limited effect on Handel Ltd.


(5 marks)


  2  Analyse how the increase in net migration to the UK might affect Handel Ltd’s costs.


(9 marks)


  3  Do you think that the entry of the new German company to the market is certain to reduce demand substantially for Handel Ltd’s products? Justify your decision.


(16 marks)





d) Essays




  1  To what extent is competition always the most important element of the external environment for fast-food chains?


(25 marks)


  2  ‘Consumers becoming more aware of environmental issues inevitably has a negative impact on businesses’ costs and revenues.’ Do you agree with this statement? Justify your viewpoint.


(25 marks)
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Revision Section: Unit 1 What is business?



Advice for Unit 1






	Top tips …

	Things to avoid …






	




[image: ]  It could be helpful to think about the advantages and disadvantages of the different forms of business. What determines the right structure for a business? What issues are involved in choosing a business format? This involves issues such as: How much does someone need to work with others? Is outside investment required? How critical is limited liability? Do not assume one approach is always right – for example, it depends on the people, their objectives, the nature of the business and the risk.






	




[image: ]  Do not assume that laws always constrain business activity. For example, the passing of various laws to limit damage to the environment have created opportunities for many businesses, including those that manufacture equipment to reduce harmful emissions or those that provide advice on how to adjust operations to meet newly created laws.











	




[image: ]  Remember that the impact of external change can affect costs and demand. The impact varies according to the type of business – for example, high costs of borrowing will affect demand for new houses more than socks.






	




[image: ]  Do not assume external change is always good or bad; it depends on what the change is (e.g. higher incomes or higher borrowing costs).











	




[image: ]  Remember that external change affects what needs to happen within the business. For example, if demand increases a business may consider expanding capacity, recruiting staff and price increases.






	




[image: ]  Do not become stuck presenting data in the same way. Remember that are many different ways in which data can be presented. Try to understand what it tells you (and what it doesn’t) and consider how it might affect a range of businesses and the decisions they make.












UNIT 1 CHECKLIST


Having completed studying this unit you should be able to do all that is listed below. You should read this list and confirm that this is the case.






	Learning objective






	
Understanding the nature and purpose of business

Know and understand:





•  why businesses exist



•  the relationship between mission and objectives



•  common business objectives



•  why businesses set objectives and what these objectives might be



•  how to measure and explain the importance of profit.










	
Understanding different business forms

Know and understand:





•  the reasons for choosing different forms of business and for changing business form such as sole traders, private limited companies and public limited companies, private sector and public sector organisations and non-profit organisations such as charities and mutuals



•  unlimited and limited liability



•  share capital



•  market capitalisation



•  dividends



•  role of shareholders and why they invest



•  influences on share price and the significance of share price changes



•  the effects of ownership on mission, objectives, decisions and performance.











	
Understanding that businesses operate within an external environment

Know and understand:





•  how the external environment can affect costs and demand



•  the factors influencing costs and demand such as competition market conditions, incomes, interest rates, demographic factors and environmental issues and fair trade.












Practice questions






1  Mandy has run her cleaning business for three years as a sole trader. Explain one reason why she might now want to set up a private limited company.


(5 marks)



2  Explain one way an external factor might affect the profit of a café.


(5 marks)



3  This year’s profits of a public limited company were significantly lower than predicted months ago. Explain one possible consequence of this.


(5 marks)



4  The share price of restaurant company Pret a Manger fell recently. Explain two reasons why this might have happened.


(6 marks)



5  Mars is a private limited company. Analyse how becoming a public limited company might affect the managers’ decisions.


(9 marks)





Case study: Aston Martin Lagonda


In 2018, the luxury carmaker, Aston Martin announced that it might float on the London stock market and become a public limited company. Analysts say the business would probably have a market capitalisation of around £5bn. Its main shareholders are an Italian investment fund and Kuwaiti investors. At the same time as announcing it was going public, Aston also announced its first-half results, reporting an eight per cent year-on-year sales increase to £445m for the six months ended 30 June.


Aston Martin’s Chief Executive, Mr Andrew Palmer, said that the plan to float was a ‘key milestone’ in the history of the company. Although some worried about conditions in the external environment, Mr Palmer felt that a luxury brand was not vulnerable to external changes such as the UK’s decision to leave the European Union.






	 

	For the year ended 31 December

	For the six months ended 30 June






	£m

	2015


	2016


	2017


	2017 (unaudited)


	2018







	Revenue

	510.2


	593.5


	876.0


	410.3


	444.9







	Profit/(loss) for the period

	(107.0)


	(147.6)


	76.8


	16.1


	11.5








Table U1.1 Overview of the Business: Consolidated Income Statement.


Source: Investigate.


Aston Martin has struggled for many years to make a profit. However, under the leadership of Mr Palmer, the company has been widening its product range to turn things around. Aston Martin Lagonda is focusing on what it calls a three-pillar product strategy offering sports and GT cars, SUVs and sedans. This strategy, which includes the opening of a new production plant in Wales, has seen Aston Martin Lagonda launch new models such as the DBS Superleggera and the Aston Martin Valkyrie hypercar.


In addition, the company is targeting a rapidly growing segment of High Net Worth Individual (HNWI) consumers who are seeking more environmentally-friendly luxury cars, re-introducing the historic Lagonda marque, as the first all-electric luxury automotive brand. The Lagonda product range will target the SUV and sedan markets, focusing on the ultra-luxury segment. Aston Martin Lagonda has a global presence with approximately 30 per cent of unit sales from the UK, 26 per cent from Europe, Middle East and Africa, 25 per cent from the Americas and 16 per cent from Asia Pacific.


The company announced that it expected car sales in 2018 to rise to between 6,200 and 6,400 units, and in the medium-term it aims to build nearly 10,000 in the 2020 calendar year. As part of its strategy, Aston Martin has targeted female buyers – the company has sold less than 4,000 cars to women in its 105-year history.


The company is also now involved in projects to build an electric flying car, luxury homes in the US, and even a personal submarine. Mr Andrew Palmer says the company is a luxury brand not just a manufacturer of cars, and is continuing to deliver sustainable growth, margins and value for their shareholders whilst launching three new models and variants in the first half of the year.


The Directors believe Aston Martin Lagonda is well positioned within the luxury segment of the automotive market; the growth in number and wealth of HNWIs, together with an increasing proportion of women and younger individuals in the HNWI population, provides a greater potential customer base for Aston Martin Lagonda’s cars.


Source: Adapted from BBC August 2018, ‘Aston Martin to sell shares on the London stock market’


Practice questions





1  Analyse the reasons why Aston Martin wanted to become a public limited company.


(12 marks)



2  Analyse the factors that might determine the share price of Aston Martin when it first becomes a public limited company.


(12 marks)



3  To what extent do you think demand for Aston Martin cars depends on external factors?


(16 marks)



4  To what extent do you think shareholders are the key stakeholder group for Aston Martin?


(16 marks)



5  To what extent do you think profit is a good way to judge the success of Aston Martin?


(20 marks)



6  Aston Martin is moving into new product areas. To what extent do you think that all businesses need to change the products that they offer over time?


(24 marks)





Essay questions





1  To what extent do you think changes in interest rates are more important than changes in demographic factors in terms of the impact on the profits of a business?


(25 marks)



2  Different forms of business include sole trader, companies and public sector organisations. To what extent do you think the form of business determines how much profit it can make?


(25 marks)
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Chapter 4 Understanding management, leadership and decision making
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Introduction


This chapter introduces you to some important ideas. Decision making is an important theme for the entire AS and A-level specification and this chapter will consider what managers and leaders do within businesses, including the crucial task of taking decisions. The chapter will also look at theories of management and leadership and use these to help you to analyse the effectiveness of different approaches to management and leadership. (There may be a distinction between a leader and a manager in large businesses. The leader may provide vision and overall direction, while the manager(s) focus on ‘getting things done’. This is not the case in many smaller organisations where the leaders are also likely to be managers. We will not focus on this distinction in this chapter.)
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Key terms [image: ]


Leadership includes the functions of ruling, guiding and inspiring other people within an organisation in pursuit of agreed objectives.


Management is planning, organising, directing and controlling all or part of a business enterprise.
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What it is important to know by the end of this chapter:





•  what managers do



•  the types of management and leadership styles



•  the influences on the choice of management and leadership styles



•  the effectiveness of different styles of management and leadership.





What managers do


Over a hundred years ago, the management theorist Mary Parker Follet wrote that management was ‘the art of getting things done through other people’. Since then, various writers over the years have argued that this involves different functions. However, those set out in Figure 4.1 would be considered the key functions that are carried out by most managers.
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Figure 4.1 The functions of management





The functions of management


Businesses operate in different ways and may require managers to undertake varying tasks and duties. However, these various management duties and tasks can be categorised into four basic functions – the functions of management. The four principal functions are:





•  planning



•  organising



•  directing



•  controlling.





Each of these functions involves managers in making decisions, which is a constant and central element of any manager’s work.



(a) Planning



Planning is the first of the functions of management and involves looking to the future. It is the foundation upon which the other three functions of management should be based. Planning requires management to evaluate where the company is currently, and where it would like to be in the future. This allows managers to take decisions so that the company moves forward in an organised and coherent manner. It gives managers something against which to judge their decisions.


Planning may involve a variety of tasks, including the following:





•  setting objectives or targets for the business or for the area of the business for which the manager is responsible



•  conducting analysis to gather together forecasts of key data such as the business’s costs and revenues, consumers’ incomes, competitors’ prices and products



•  drawing up plans for functional areas within the business such as finance, human resources or marketing – these plans should fit together to help the business achieve its agreed objectives



•  estimating the likely resource needs for any proposed plans.





The planning process is continual, as external factors (such as the amount and cost of available labour, for example) change all the time. These changes may cause a company to adjust its course of action to ensure that it achieves its objectives.


Planning helps managers to reduce the chance of projects failing in the future. A plan can highlight problems and encourage managers to develop solutions. It helps to make sure that managers have the resources they need. A plan can also be extended to help managers to overcome emergencies or crises – these are called contingency plans.


(b) Organising


Management must assemble the resources that they need to carry out the actions set out as part of the planning process. Through the process of getting organised, management will determine the internal organisational structure and establish and maintain relationships, as well as allocating necessary resources.


The American aeroplane manufacturer, Boeing, has announced it is to build a new factory in Sheffield. The new factory will be in production by 2019 and will manufacture components for use in Boeing’s next-generation aircraft, including the 737, 737 MAX and 777 planes. In order to organise this expansion into a new factory, the company’s managers will need to assemble the following resources:





•  land on which the new factory will be built



•  30 highly skilled employees to staff the factory



•  approximately £40 million to fund the building of the new factory.





Acquiring resources is an essential element of the effective management of establishing the new factory. A well-managed business will plan carefully and may seek to use a minimum of resources to achieve its objectives.
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What do you think? [image: ]


Should managers always seek to minimise the amount of resources that a business uses to produce its goods and services?
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(c) Directing


The third function of management is directing. Through directing, management is able to influence and oversee the behaviour of the staff in achieving the company’s goals, as well as assisting them by providing the necessary resources. Directing employees entails leading employees through motivation and communication.





•  Motivation is the willingness to achieve a target or goal. Employees that are highly motivated generally perform better. This assists businesses in achieving objectives. For this reason, managers tend to put a lot of focus on motivating their employees. For example, they provide financial incentives programmes to encourage employees and also may grant them authority to take decisions to help improve motivation and performance.



•  Communication is the exchange of information between one or more people. Effective communication can take a number of forms. It may simply be praise, or clear guidance. Whatever form it takes it can help to achieve high levels of productivity and encourages employees to use their initiative as well as to solve problems.






(d) Controlling



Controlling involves setting standards using the company’s objectives, and reviewing and reporting performance. Once management has done both of these things, it should compare the objectives and performance to determine any necessary corrective or preventive action. Reviewing is a very important part of a manager’s role as it allows reflection and judgement on what has been achieved and encourages further decisions to ensure the business meets its objectives.


Managers can report on business performance in a number of ways.





•  Financial reports. Many companies publish details of their financial performance each year. This gives interested parties information on their sales, revenues and profits. In many countries there is a legal requirement for companies to report on profits or losses to assist governments in assessing that the correct amount of tax has been paid.



•  Employee performance. Such reports may provide information on productivity (the quantity produced per employee per week, for example), absenteeism or training costs. For many businesses supplying services these can be vital measures of performance.



•  Social performance. Managers can measure a business’s performance in terms of behaving ethically, minimising pollution and creating jobs.





When Boeing opens its new factory in Sheffield it may need information on each of the above areas to assess whether its factory is progressing according to its plans. The control process is a constant task for managers. Through the process of control a manager is able to identify potential problems and take the necessary decisions to overcome them.


Managers and decision making


Each of the functions that managers have to undertake entails decision making.





•  Planning. In this stage managers will need to decide what objectives should be set for the organisation, or their element of it. These objectives may relate to profits or, for some businesses, they could be about achieving social or ethical targets. They may be influenced by analysis of competitors or of consumers’ expectations. The analysis may reveal a gap in the market (for, say, ethical products) that are not being met by competitors’ products. This analysis will inform decision making.



•  Organising. Managers have to decide what resources will be needed to allow the business to fulfil its objectives as efficiently as possible. This could entail making decisions about where to locate, whether to use technology or labour as the cornerstone of production and whether or not to use sustainable resources.



•  Directing. A central task for managers here is leading. This will require managers to decide the best way to motivate the employees that they are managing. They may decide to use money as the main method of encouraging their employees to work effectively or opt to design interesting jobs that will stimulate their colleagues.



•  Controlling. This final function entails further decision making. The process of reviewing will compare actual performance against objectives and create two types of decision. What aspects of the business’s performance require corrective action and what action should be taken?
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Business in focus: Cuadrilla explores for shale gas in Lancashire [image: ]


Cuadrilla Resources Ltd is an oil and gas exploration and production company. In July 2018, it received permission from the UK government to frack for shale gas at a site in Lancashire near to Preston. Fracking, or hydraulic fracturing, is a controversial technique used to exploit reserves of gas held in shale rock layers deep within the earth. The process requires the injection of highly pressurised fluids into the layers of rock.


The company was pleased with the government’s decision. The company’s Chief Executive, Francis Egan, said:


‘We now look forward to submitting a fracture consent application to (the government) for our second exploration well and moving on to fracture the shale rock and flow the natural gas which we believe will make a major contribution to reducing the UK’s gas imports and improving our environment and economy.’


Cuadrilla plans to test the gas produced for about six months, and to seek permission for a second well at the Preston site.


Cuadrilla argues that commercial extraction of natural gas from shale would see it, along with its suppliers, become one of the biggest employers in Lancashire, with specialist companies also moving to the region. Cuadrilla has already invested more than £10 million into its activities in Lancashire. Cuadrilla expects that its activities will create several hundred jobs in Lancashire and be operational for up to 10 years. It also hopes to explore for shale gas at other sites in the future.


Fracking has received a lot of adverse publicity as many believe the process is harmful to the environment. Cuadrilla expects to face continued opposition from groups seeking to protect the environment, such as Friends of the Earth, as well as from local residents.


Practice questions





1  Analyse why decision making will be an important part of managing this project if it goes ahead.


(9 marks)



2  Do you think that planning will be the most important function for the managers at Cuadrilla’s proposed sites in Lancashire? Justify your view.


(16 marks)
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What do you think? [image: ]


Advances in information technology mean that much more information is available to managers to help them to take decisions. Do you think that this makes their roles easier?


[image: ]





Types of management and leadership styles


Over the years, many theories have been presented concerning management and leadership. Views have altered with time, and this has been reflected in the changing approaches adopted by businesses.


Trait theory


Many writers have argued that all leaders or managers should have a set of traits or characteristics, though there is some disagreement as to the precise nature of these traits. However, the consensus is that certain personality traits differentiate a good leader or manager from other people. Trait theories have developed from the concept of the charismatic individual – Nelson Mandela or Barack Obama, for example. Examples such as these have led to trait theory being termed ‘great person theory’. Supporters of the idea of the charismatic leader or manager contend that such individuals have identifiable characteristics that set them apart from ordinary mortals.


One of the reasons for the decline in popularity of trait theories is that successful leaders have been found to exhibit different characteristics from each other.


Behavioural theories


These theories focus on how an individual behaves in a management or leadership role. The theories try to identify the right way of leading or managing rather than the characteristics of the person. There have been many studies looking at styles of leadership and management and considering which are successful.


Researchers at Ohio State University used questionnaires to ask employees to describe the behaviour of their managers. They identified two dimensions: ‘consideration’ and ‘initiating structure’.





•  A considerate style focuses on the wellbeing of subordinates. Are they comfortable at work? Do they feel at ease and well treated? Managers with this style focus on listening to employees and encouraging them. This type of manager is approachable and rewards good performance. Staff may feel looked after. However, they may not necessarily complete the task effectively.



•  An initiating structure focuses on defining and planning work. The leader concentrates on getting the work done. They allocate tasks, inform subordinates of their tasks and monitor progress. The work gets done, but staff may feel that they are being treated unfairly.
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Key models and theories: The Blake Mouton grid [image: ]


The Blake Mouton grid is a management and leadership style model. The model is used to categorise management styles according to the manager’s concern for production and concern for people. This approach allows managers to be placed into five broad categories.
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Another study by researchers at Michigan University called the relevant dimensions ‘task orientation’ and ‘relationship orientation’. These different styles can be analysed using the Blake Mouton grid, as shown in Figure 4.2. The vertical scale on this grid reflects a leader’s concern for people. The horizontal scale reflects concern for task or production done.


If a leader or manager focuses on getting the job no matter what, they are ‘task focused’. The risk here is that the goodwill and support of the team will be lost which may cause problems over time. However, a leader who is concerned about keeping people happy may create a pleasant working environment in which tasks are not always completed efficiently. This is called ‘country club management’.
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Key models and theories: Tannenbaum and Schmidt’s continuum [image: ]


The Tannenbaum and Schmidt continuum is another model that can be used to assess a leadership or management style. This model categorises styles according to the use of control and freedom. These are presented on a continuum where a manager or leader’s authority is steadily replaced by freedom for subordinates.
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Another classification of styles is to consider the extent to which managers or leaders ‘tell’ or ‘listen to’ their staff. Using this approach, individuals have been classified as being autocratic, democratic or laissez-faire (literally ‘leave alone’). However, there are many more different styles of managing and leading that can be identified using this approach. The Tannenbaum and Schmidt continuum shown in Figure 4.3 emphasises that there is a range of leadership behaviour depending upon the extent to which managers take decisions or whether subordinates contribute significantly to decision making.
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Figure 4.2 The Blake Mouton grid
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Figure 4.3 The Tannenbaum–Schmidt continuum





A key factor in differentiating between leadership styles is communication. At the autocratic end of the spectrum communication is likely to be downward only as the leader or manager ‘instructs’ his or her subordinates as to their duties. Democratic leadership is more likely to result in two-way communication as consultation and ‘selling’ of the final idea take place. Laissez-faire leadership may result in relatively little communication as the problem or task may be outlined, with subordinates then having considerable freedom to work as they see fit.


Who takes the decisions also has a very important effect. Autocratic managers are likely to retain control of decision making, while democratic managers will seek to involve a wider group in contributing to joint decisions. Laissez-faire managers tend to leave decision making to subordinates.


(a) Autocratic leadership


This is also sometimes termed authoritarian leadership. It refers to a leadership or management style that assumes that information and decision making are best kept at the top of the organisation. It is also characterised by:





•  primarily one-way communication (downward)



•  minimal delegation or decentralisation (one person with authority)



•  close supervision of employees.
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Key terms [image: ]


Authority is the power or ability to carry through an action.


Delegation is the passing of authority down the organisational structure.


Empowerment is a series of actions designed to give employees greater control over their working lives.


Decentralisation entails passing authority from the centre of an organisation to those working elsewhere in the business.
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Martha Stewart, an American entrepreneur, built up a vast global business venture, including publishing, television broadcasting and online commerce despite, or perhaps because of, her reputation as an autocratic leader. With this style, the leader determines objectives, allocates tasks and expects obedience from subordinates. In these circumstances, employees become very dependent upon their leaders, as they do not have the necessary information (or confidence) to act on their own initiative.


Organisations managed in an authoritarian style can face difficulties. People avoid making decisions so that matters to be decided are either passed up for the decisions to be made at a higher level, or decisions are made by committees, as it is more difficult to dismiss all the members of a committee for jointly making a wrong decision. Senior management tends to be overworked and large numbers of staff may leave. This style of leadership becomes more difficult to operate successfully as an organisation grows.


As with all the behavioural leadership classifications, the term autocratic manager covers a spectrum of actual styles. Extreme autocratic management will result in subordinates having no freedom of action. More benevolent autocratic leadership will allow for the possibility of some discussion or persuasion. This implies that limited two-way communication may occur.






	Appropriate

	Inappropriate






	When a rapid decision is needed – perhaps in an emergency.

When it is important that the same message is given out by everyone in the organisation – maybe as part of crisis management.


When managers are responsible for a large number of (possibly unskilled) subordinates.



	When taking highly complex decisions requiring diverse knowledge and skills.

When leading a talented, self-motivated and creative group of employees.


In circumstances in which junior managers are expected to develop a full range of managerial skills.









Table 4.2 Autocratic management: circumstances in which it may or not be applicable


(b) Democratic leadership


Democratic leadership (sometimes called participative leadership) entails operating a business according to decisions agreed by the majority. Decisions may be agreed formally through a voting system, but it is more likely to be the result of informal discussions. Typically, democratic leadership encourages some or all of the following:





•  the leader delegates a great deal and encourages decentralisation



•  the leader and subordinates discuss issues and employee participation is actively encouraged



•  the leader acts upon advice, and explains the reasons for decisions



•  subordinates are empowered and have greater control over their working lives.





The successful operation of this style requires excellent communication skills on the part of the leader and the ability to generate effective two-way communications. A considerable amount of management time may be spent on communicating in one form or another. This approach helps to develop the skills of subordinates and generally results in a more satisfied workforce.


Democratically led groups usually have low dependency on their leader, offer constructive ideas and suggestions and derive great satisfaction from their employment. As a consequence, such groups have high levels of self-motivation and may require relatively little supervision.


There is evidence of a trend towards more democratic styles of leadership, though this depends on many factors including the size of a business and its culture. The trend towards democratic leadership has a number of possible causes.





•  Management theory has developed and provided substantial evidence that people are more likely to be motivated (and productive) through the use of a democratic leadership style.



•  Leadership has become more complex. Globalisation means that businesses are larger and more complicated and the environment in which they operate is dynamic and subject to rapid change. Individuals are more likely to need the support that democratic leadership provides to succeed in these circumstances.
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Business in focus: Richard Branson assesses Steve Jobs’ leadership style [image: ]
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Figure 4.4 Richard Branson
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Figure 4.5 Steve Jobs





Richard Branson admires Apple Inc.’s co-founder, chairman and CEO, Steve Jobs. Jobs’ leadership was based on authority and the use of a ‘tell’ style in which the manager makes a decision and announces it. Branson assesses Jobs’ leadership style in the following way:




Leadership doesn’t have a secret formula; all true leaders go about things in their own way. It’s this ability to think differently that sets them apart – and that enabled the late Steve Jobs to create perhaps the most respected brand in the world.


Steve Jobs’ leadership style was autocratic; he had a meticulous eye for detail, and surrounded himself with like-minded people to follow his lead. While he was incredibly demanding of his people, he wasn’t the best delegator – he wanted to involve himself in every detail, which is the opposite of my own approach. Personally, I have always believed in the art of delegation – finding the best possible people for Virgin and giving them the freedom and encouragement to flourish.


Steve Jobs was always at the centre of everything Apple did. Over his extraordinary career, he learnt that it is vital that you don’t solely lead your company from a distance. Walk the floor, get to know your people. Even though I don’t run Virgin’s companies on a day-to-day basis any more, I still find it crucial to get out and about among our staff. No one has a monopoly on good ideas or good advice, so as a leader you should always be listening.


Of course, there will be times when strong and decisive leadership is necessary; to make sure the right moves are made. If you place the emphasis on getting the little things right, and address the everyday problems that come up, you can encourage a culture of attention to detail. Jobs may not always have been the best leader of people – which may, in part, have been due to his health problems – but he was innovative, determined and, above all, passionate. Finding gaps in the market, and creating products that make a real difference to people’s lives, can only be accomplished if you have passion for what you are doing. If you make something you are proud of, that filters down to your staff, as well as your customers. Today, more than ever, you’ve got to do something radically different to make a mark.


Source: Adapted from ‘Virgin’s Richard Branson: Apple boss Steve Jobs was the entrepreneur I most admired’, 6 Oct 2011 © Telegraph Media Group Limited 2019





Practice questions





1  Analyse how the leadership style used by Steve Jobs might have affected the motivation levels of Apple’s workforce.


(9 marks)



2  To what extent is being a good communicator, or being decisive, more important than the leadership style adopted by the leader?


(16 marks)
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(c) Laissez-faire leadership


This approach is sometimes described as mild anarchy. Under this approach the leader has a minimal input into the operation of the business. Employees are empowered to take the majority of the decisions with little reference to the leader. As a consequence, the organisation can lack a sense of direction as well as coordination and planning.


The laissez-faire style of leadership may occur because of the shortcomings of the leader, who may lack the essential skills needed to carry out the role successfully. Alternatively, it may be a conscious and brave policy decision to give staff the maximum scope for showing their capabilities. It may be an appropriate style to adopt in certain circumstances. For example, the leader of a highly creative team may deliberately adopt this style in the expectation of bringing out the best in his or her subordinates.


Laissez-faire leadership may be successful in the following circumstances:





•  The manager or leader is one among a number of equals in terms of experience and qualifications.



•  The workforce is self-motivated and understands the role of managers.



•  The workforce understands and agrees with the organisation’s objectives.





Laissez-faire leadership tends to result in highly independent employees who are willing to voice their opinions. Staff may be satisfied or dissatisfied with this style of leadership, depending on their skills and the complexity of the tasks to be completed.


Style versatility


Building on the contention that there is not a single perfect style of leadership, it is possible to argue that the best managers are those who adopt a style suitable to the circumstances. The most talented managers might be the most versatile, able to call on one or more of the styles we have discussed having assessed the demands of the situation. A versatile manager might adopt a democratic approach when reaching a decision on a proposed marketing campaign with a small group of writers and artists but demonstrate a more autocratic style when dealing with a crisis.


Influences on the styles of management and leadership


A number of factors may influence the style adopted by managers and leaders. Some of these are considered below.





•  The tradition and history of the business. Some businesses have a history of particular management styles. For example, the John Lewis Partnership has a tradition of involving staff in decisions and a ‘considerate approach’.



•  The type of labour force. Highly trained, skilled and confident employees may be more suited to democratic leadership as they have the ability to contribute to decision making and can bring perspectives of which managers may be unaware.



•  The nature of the task and the timescale. A manager does not always have to deploy the same leadership style – good managers can use style versatility. An urgent short-term task may require a more task-focused, autocratic approach. In contrast, a scenario that calls for a highly creative, longer-term approach may be better managed by a laissez-faire style.



•  The personality of the manager or leader. Confident individuals who are good communicators may be suited to a democratic style of leadership. Decisive individuals with a strong vision of where the business should be going may be more task-focused or autocratic. Mark Zuckerberg, the CEO of Facebook, has been criticised for establishing a corporate model in which autocratic management is encouraged.
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Business in focus: The John Lewis Partnership [image: ]


The John Lewis Partnership (JLP) has 50 department stores and 353 Waitrose supermarkets located across the UK. Annual sales revenue exceeds £10 billion. The business operates in a very different way to public limited companies. The company’s employees own the business and profits are not paid to shareholders in the form of dividends; instead they are distributed to the business’s employees as an annual bonus. The company’s ownership structure was established by the company’s founder, John Spedan Lewis, in 1864.


JLP has over 85,000 well-trained permanent staff and all of them are partners. The company’s organisational structure allows managers the freedom to be entrepreneurial and competitive in the way they run the business for long-term success. It also allows the company’s owners, the partners, to share in the benefits and profits of a business that puts them first. JLP’s structure is democratic. The Partnership Board, the Divisional Management Boards and the Chairman’s Committee form the management of the company. Partners have an official voice and can hold management to account as well as make suggestions. Five partners are elected as directors to the Partnership Board.


JLP is proud of its structure. Its website states: ‘As a Partnership we are a democracy – open, fair and transparent. Our profits are shared, our partners have a voice and there is a true sense of pride in belonging to something so unique and highly regarded.’


Source: John Lewis Partnership website


Practice questions





1  Analyse the benefits that the John Lewis Partnership may receive from operating a democratic management style.


(9 marks)



2  Do you think that the ownership structure at John Lewis is the major influence on its management style? Justify your view.


(16 marks)
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The effectiveness of different leadership and management styles


What is effective management or leadership? At its simplest it is that which allows an organisation to meet its objectives within the agreed timescale. It may also result in a workforce performing more efficiently than those of similar competitors, perhaps measured by products being produced at a lower cost per unit, though this is only a partial measure. Low-cost production may be achieved at the expense of dissatisfied employees and large numbers of employees leaving each year. Efficient employees who are satisfied by their work may provide a good measure of managerial effectiveness.


Businesses operate with a wide range of approaches to management and leadership. This suggests that different leadership styles are effective in different situations. We saw in the previous section that there are a number of reasons why this takes place and effective managers will take these factors into account. However, decisions about leadership and management styles should not be taken in isolation.


For a subordinate-centred leadership style to be effective, a business will need to ensure that it provides sufficient resources. It may need to spend heavily on training its employees to ensure they have the necessary skills to carry out the roles that are expected. Equally, a business may need to recruit its employees carefully to ensure that it has workers of sufficient calibre to carry out the desired roles effectively. This may require the payment of wages that might be higher than those paid by competitors.


Managers should recognise that they are unlikely to be effective in isolation. For any style to be effective it requires support from others in the organisation. This support should come from those higher in the organisation as well as from those below. Any style of leadership will require support for its objectives and approach from more senior employees. They may provide the necessary resources but also backing when difficult decisions have to be made. Similarly, those lower in the organisation may obstruct a manager’s decisions, especially if they result in unpopular changes. This can prevent decisions being taken which are necessary to reach the organisation’s objectives.


Effective management may entail making a judgement about the skills and abilities of subordinates. If they have relevant skills and abilities then it would be effective to involve them in decision making to make use of these talents. To retain control and to operate in an autocratic style in these circumstances would be to avoid making full use of the resources that are available.
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ASSESSMENT ACTIVITIES [image: ]


(a) Knowledge check questions




  1  What is meant by the term ‘management’?


  2  State two tasks that a manager may undertake while carrying out the role of planning.


  3  Is the following statement true or false? ‘Directing is a management function which includes leading employees by communicating with and motivating them.’


  4  State two areas of business performance on which managers may report as part of the reviewing process.


  5  State two examples of decisions that managers may have to take when carrying out the role of organising.


  6  According to the Blake Mouton grid, which style of leadership combines a high concern for people with a low concern for production?


  7  What are the key characteristics of Blake Mouton’s ‘impoverished style of leadership’?


  8  State two circumstances in which autocratic leadership may be needed.


  9  Is the following statement true or false? ‘Under the democratic style of leadership a leader has a minimal input into the operation of the business.’



10  List two factors that might influence the leadership or management style that is adopted.





(b) Short answer questions





1  Explain why controlling is an important role for managers.


(4 marks)



2  Explain why processing information is a vital task for managers.


(5 marks)



3  Explain why a democratic manager is likely to make use of delegation.


(5 marks)



4  Explain why style versatility might be considered the most effective management style.


(5 marks)





(c) Data response questions


Patti and Ravi Shastri own and manage P&R Components Ltd, a small manufacturing business in Birmingham. The business’s workforce of 125 people is diverse: it includes a large number of unskilled workers as well as creative designers and professional managers including accountants and engineers. The company experiences a high proportion of its employees leaving each year – last year 25 left and had to be replaced.


Patti is responsible for managing one of the company’s divisions with 45 unskilled production line workers and uses an autocratic style of management allowing employees little freedom in making decisions. This division has to respond quickly to changes in orders from some major customers.


Ravi’s approach to leadership has changed over time. He has always been very concerned about people. He has received criticism from Patti for his division being late in supplying orders to some important customers. In response he has shown an increased concern for production and has sent a number of employees on training courses.





1  Explain why Patti chose a management approach that told employees what to do.


(5 marks)



2  Analyse why managing P&R Components Ltd’s workforce may be challenging.


(9 marks)



3  Evaluate the possible implications of Ravi’s change in leadership style using the Blake Mouton grid.


(16 marks)





(d) Essays





1  Decision making is always the most important element of a manager’s job in a large public limited company. To what extent do you agree with this statement?


(25 marks)



2  To what extent do you think that an autocratic leadership style is most suitable for a newly established business?


(25 marks)
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Chapter 5 Understanding management decision making
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Introduction


Chapter 4 looked at management and leadership styles and emphasised the central part decision making plays in these roles. This chapter will consider the process of decision making in more detail, including decision trees. It will also cover the factors that influence managers’ decision making.


What it is important to know by the end of this chapter:





•  the value of decision making based on data and on intuition



•  the use and value of decision trees in decision making



•  the influences on decision making.





Management and decision making


Making a decision entails selecting a logical choice from the options that are available. A central part of a manager’s role is making decisions. Managers are in charge of various resources (such as people, money, machines and materials) and must decide how to use them most effectively to achieve the business’s objectives. This involves hundreds of decisions every week. Other decisions may relate to whether or not to launch new products or to buy another business.


The decision-making process


It is possible to identify a number of stages in the decision-making process, as illustrated in Figure 5.1.





•  Setting objectives. This is an essential starting point because the success of a decision can only be judged against the objectives or targets that were set. For example, a manager may be considering how to increase a business’s weekly sales to 10,000 units. The effectiveness of the resulting decision can be measured against this objective.



•  Gathering and interpreting information. Before making a decision, a manager may decide to gather information on the options that are available, including the costs and benefits. Advances in information technology have made this stage easier for managers to complete and more cost effective.



•  Selecting the chosen option. Having weighed up the options available managers have to make a choice based on the data and also on their experience.



•  Implementing the decision. The manager will take actions such as using resources in the chosen way and communicating their intentions to interested parties.



•  Reviewing. This is an essential stage to judge whether the decision is having the desired effect and meeting the objectives that were set. This offers an opportunity to consider whether or not the objectives are still relevant and to assess whether or not the actions arising from the decision need to be amended.
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Figure 5.1 The process of decision making. Decision making is a dynamic and on-going process in which managers are continually engaged.





Types of decisions


1. Programmed and non-programmed decisions


Different types of decision have to be made. In 1960, Herbert Simon analysed types of decision in terms of programmed and non-programmed elements. Programmed decisions deal with problems that are familiar and where the information required to make them is easy to define and obtain. The situation is well structured and there are often established procedures, rules and policies. For example, reordering components is often a programmed decision. Employees know what has to be ordered, who to order from and how to order it. They simply decide on matters such as when and how much to order.
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Key terms [image: ]


Programmed decisions are familiar and routine decisions.


Non-programmed decisions are less structured and require unique solutions.
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In contrast, non-programmed decisions deal with situations that are unstructured and require a unique solution. These are unusual decisions that may be risky, such as a major investment or entering a new market.


2. Tactical and strategic decisions


Some decisions are strategic, meaning that they are long term, involve a major commitment of resources and are difficult to reverse. We will consider strategy later in this book.


Other decisions are tactical, which is the focus of this chapter. Tactical decisions are short term, taken more regularly and involve fewer resources. For example, the reordering of stock is a tactical decision. The investment in purchasing new premises is a strategic decision.






	Strategic decisions

	Tactical decisions






	long term

	short term






	involves large commitment of resources

	fewer resources involved






	difficult to reverse

	easier to reverse






	usually taken by senior management

	usually taken by more junior management







Table 5.1 One way of looking at types of decisions


Decision making, risks, rewards and uncertainty


Most decisions taken by managers involve some degree of risk. There is a chance, for example, that a decision to reduce the price of a product will not result in a significant increase in sales. There is a risk that customers will not respond to the stimulus of lower prices and that the business will suffer a fall in revenue. Risk is normally measurable. When considering a price cut, it may be possible to research the buying habits of the targeted consumer group to assess the possibility of this happening. This situation illustrates how gathering more data relating to a decision can help to reduce the risk. In this case, if the data collected suggested that consumers would not respond in sufficient numbers, then the manager would not take the decision.
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Key terms [image: ]


Risk is the chance of incurring misfortune or loss.


Uncertainty is a situation in which there is a lack of knowledge and events, outcomes or consequences are unpredictable.


Opportunity cost is the next best alternative foregone.


[image: ]







[image: ]


Business in focus: A big decision [image: ]


Maersk Oil and three other project partners have taken a decision to invest £2.5 billion to ensure continued production from the Tyra gas field in the North Sea. Maersk will invest £0.78 billion of the total sum. As a result, the Tyra field will continue producing gas until at least 2047 with the potential to supply 1.5 million Danish homes.


The Tyra gas field will be closed in November 2019 to allow the redevelopment to take place. Gas production is expected to recommence during 2022.


Maersk Oil chief executive Gretchen Watkins said: ‘Tyra has been a key asset in the history of Maersk Oil, and an important source of energy security for Denmark. The redevelopment of Tyra is the largest investment carried out in the Danish North Sea, and when completed in 2022, production from the Tyra field itself has the potential to cover Danish gas consumption for a decade.’


Source: Adapted from Energy Voice, 1 December 2017


Practice questions





1  Analyse why it would have been important for the companies concerned to collect and interpret information before reaching their final decision on this project.


(9 marks)



2  Do you think this investment was a risky decision for the companies? Justify your view.


(16 marks)
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Rewards result if managers make good decisions. If the manager considering the price cut had decided to reduce the price of the products and sales had risen substantially as a result, then the reward could have been in the form of increasing revenues and possibly profits. It is often the case that the riskier a decision, the greater the potential rewards. In 1995, Bill Gates, Founder and former CEO of Microsoft, took the decision to focus his business on the internet and received spectacular rewards. This would have been risky as there was little data available at the time on projected internet use. Since then, Bill Gates has become one of the wealthiest people in the world, with his fortune estimated at $91.3 billion in 2018. In 2018, Microsoft’s profits were $16.6 billion.


However, risky decisions can go badly wrong. In 1985, Coca-Cola had a 100-year history and sold the world’s most popular soft drink. To celebrate its centenary, the company decided to introduce the ‘New Coke’, a reformulation of the original soft drink. The decision led to sales slumping by 20 per cent and Pepsi-Cola became more popular. The decision was reversed but the costs to the company were considerable.


Some types of decisions are unique and involve situations that managers have not experienced before. Accordingly, it’s difficult to identify every possible outcome and even harder to establish the probability of each of these outcomes. This makes it very difficult to assess the degree of risk and the likelihood of incurring some loss or misfortune. This creates uncertainty. In the first six months of 2018, investment made by car manufacturers in the UK was £347.3 million compared to £647.4 million over the same period in 2017. Business analysts believe this 50 per cent fall was due to uncertainty over the future of the economy created by the UK’s decision in 2016 to leave the European Union in a process that had been named ‘Brexit’. Car manufacturers are concerned that it may be more difficult to import components to the UK and export finished cars to Europe in the future.


If a business takes a decision it normally involves a cost. In 2018, despite the uncertainty caused by Brexit, the American pharmaceutical company, MSD, decided to invest in a new research facility in the UK. This facility will require an investment of ‘hundreds of millions of pounds’ and will create 950 jobs. Decisions also have an opportunity cost. By deciding to invest millions in this way, MSD would have been unable to choose a second best option, for example, to expand an existing research centre. Opportunity cost is the best option that a manager gives up in making a decision. Considering and evaluating different options is an important element of decision making. Managers at MSD would have carefully evaluated their options before deciding on the UK investment.


Decision making based on data and on intuition


There are many different ways of making a decision. In some cases managers will research the decision thoroughly; this means that they will gather data and analyse it before deciding what to do. In other cases they may rely on their own experience from the past or on their instinct or intuition. As we shall see, the approach taken will depend on a range of factors.


1. Decision making based on data


When a manager gathers data and analyses it before making a decision this is known as a scientific approach to decision making. It is scientific because it is rational, logical and based on data. Many of the mathematical topics you will study as part of this AS or A-level course are used to help managers analyse the data as part of scientific decision making. In later chapters you will read about break-even analysis, ratio analysis, investment appraisal and correlation analysis. All of these management tools, and others, help managers to analyse relevant data to try and make the right decisions.
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Key term [image: ]


Scientific decision making is based on data and uses a logical, rational approach to decision making.
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Figure 5.2 Factors that can shape decision making





The scientific decision-making process involves:





•  recognising that there is a problem or opportunity, that is, recognising that a decision has to be made



•  setting objectives for what you want to achieve



•  setting decision criteria and deciding how important each one is



•  developing and identifying alternatives



•  comparing the alternatives by analysing the available data



•  choosing and implementing a course of action



•  reviewing the effectiveness of the decision.





A scientific approach to decision making is rational and logical. Decisions are made based on information, not intuition. This approach is likely if there is high degree of risk that managers are seeking to reduce or if a major decision is to be taken.


If a scientific approach is adopted then managers need to understand the environment in which they operate. This means they need to consider the external environment in which the business operates and which factors within this environment are most significant for the decision they plan to make. These will vary according to the type of business and the industry of which it is a part. In the computer software industry, competition is a major influence and businesses must be aware of possible actions and reactions by rivals to any decisions taken. In the healthcare market, demographic changes may be a key factor. Managers must identify which factors are most significant for them.


Managers have a range of ways of collecting data to shape their decision making. Data for scientific decision making may be gathered, for example, through the internet, customer surveys or the business’s records. Technology has made it simpler to collect and analyse data, as illustrated in the example of Tesco plc and its Clubcard on the next page. The use of technology means that businesses are frequently handling enormous amounts of data to arrive at conclusions that are likely to be more reliable. Technology makes it easier and more cost effective to collect and analyse data. Despite these advances, scientific decision making is not foolproof.


The limitations of scientific decision making


We have seen that scientific decision making is logical and rational. If the data is available and is not too expensive to collect and analyse then its use in decision making makes sense. Managers have to judge the benefits of a scientific approach to decision making against its expected costs. For some decisions, such as a small business expanding into a new geographical markets, data may simply be too expensive to collect.


The data that is available to support decision making may not always be reliable. When considering launching innovative products it may be difficult to discover customers’ views on a product that is unfamiliar to them. Steve Jobs, founder of Apple, said that customers did not always know what they wanted and this could invalidate data gathered from them!


2. Decision making based on intuition, or ‘hunch’


An alternative approach to making decisions is to rely on intuition or ‘hunch’. This means that managers have to rely on their instinct as to whether to make a particular decision. Intuition or hunch may be appropriate when data is less likely to be available or managers fear that it may not be reliable. Other circumstances in which this may be appropriate may include:





•  when an important part of a decision is making an assessment of a potential business partner’s personality or character



•  assessing whether an advertising campaign for a new product may catch the attention of consumers



•  where sufficient quantitative data is not available or when the data that is available tells a contradictory story



•  when a quick decision is necessary, leaving insufficient time to gather and analyse the data.





Some very successful entrepreneurs and managers use intuition and hunches to make decisions. Richard Branson is one manager who believes in the use of intuition, frequently quoting his maxim: ‘I never get the accountants in before I start up a business. It’s done on gut feeling.’
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What do you think? [image: ]


Should all entrepreneurs rely on intuition rather than advice from professionals when deciding whether or not to start a business?
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Business in focus: Tesco Clubcard [image: ]


Tesco plc is the UK’s largest retailer and operates in an increasingly competitive market. In 2018, it reported sales revenue amounting to £57.5 billion and profits of £1.3 billion despite intense competition from rivals such as Aldi and Lidl. Over 17 million people in the UK have a Tesco Clubcard – the company’s loyalty card. Over 20 million Clubcards are held by overseas customers. Clubcard holders provide Tesco with details of age, gender and address and may also give information about their families. Details of the store shopped in, products purchased and price paid are stored against the holder’s Clubcard account for every transaction. Clubcard provides Tesco with around 260 billion items of data each year to help its managers to make scientific decisions.


Clubcard costs Tesco a reported £500 million each year to operate. In return, the data generated assists Tesco in classifying its customers into different groups or segments. The information provided by Clubcard helps Tesco to stock the right products, charge the right prices, promote its existing and new products successfully and communicate personalised offers to its customers. This information helps the company to meet its customers’ needs at a time when UK consumers’ shopping habits are changing rapidly. Tesco is also reported to sell the information it collects to other businesses for more than £50 million a year.


Practice questions





1  Analyse the reasons why Tesco operates its Clubcard despite incurring costs each year of £500 million to do so.


(9 marks)



2  Do you think that managers at Tesco no longer need to make any decisions using intuition or hunches? Justify your view.


(16 marks)
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Decision trees


A decision tree is a mathematical model which can be used by managers to help them make the right decision. Imagine that a manager is trying to decide whether to cut the price of a product or increase the amount of money spent on advertising or to do nothing. These options are illustrated in Figure 5.3.
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Key term [image: ]


A decision tree is a model that represents the likely outcomes for a business of a number of courses of action on a diagram showing the financial consequences of each.
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The square shows that a decision has to be made and the lines coming from it show the possible choices facing the manager. Note that there is a third line saying ‘do nothing’. This is because managers always have the option of doing nothing at all so you should always include this as an option when drawing a decision tree.




[image: ]

Figure 5.3 The first stage of constructing a decision tree
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Figure 5.4 Adding possible outcomes to the decision tree





Whenever managers choose a particular course of action such as advertising or cutting the price there will be a range of possible outcomes. For example, if the firm advertises its products there may be a big increase in sales or a small increase in sales; similarly if the price is cut this may have a big or a small impact on sales. These possible outcomes are illustrated on the decision tree as using circles to denote the existence of chance outcomes, as shown in Figure 5.4. Circles show that different outcomes are possible; these are then illustrated by the lines coming out of the circle. These circles are often numbered for ease of identification.


At this stage (Figure 5.4) the decision tree simply illustrates the options and the possible outcomes. To make it more useful and to help managers make the decision, some numerical data is needed.


First, in this case, managers need to know how likely it is that the predicted increase in sales will be ‘high’ or ‘low’ for each option. This is known as the probability of a particular outcome. The value of the probability can range from 0 to 1. The bigger the number the more likely it is that an event will happen. If the number is 1 this means the event is certain to happen.
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Key terms [image: ]


Probability is the chance of a particular event occurring.


Expected values are the financial outcomes from a specific course of action adjusted to allow for the probability of it occurring.


Net gains are the expected values of a course of action minus the costs associated with it.
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Figure 5.5 Probability





If all the outcomes of an event are considered their probabilities must add up to 1. If the probability of it raining tomorrow is estimated to be 0.4 then the probability of it not raining must be 0.6. Combined, the probabilities will equal 1 because it must either rain or not rain.




[image: ]


Handling data: [image: ]





1  An event is said to have a 0.65 chance of occurring. What is the probability of this event not occurring expressed as a percentage?



2  A business thinks that a new product has a 0.4 chance of being successful. What is the percentage chance of it being judged unsuccessful?
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In Figure 5.6 we have now added the probabilities of each outcome (shown by the number after the letter ‘P’ in each case). For example, the manager has estimated that if the firm increases spending on advertising there is a 0.5 chance of a high increase in sales and a 0.5 chance of a low increase in sales. In other words, there is a 50 per cent chance of a high increase in sales and 50 per cent chance of a low increase. However, in the case of a price cut the manager estimates that there is 0.8 chance of a high increase in sales (that is an 80 per cent chance) and a 0.2 (or 20 per cent chance) of a low increase.


We have also added in the estimated benefits of each outcome. For example, if the firm advertises and there is a high increase in sales the benefit will be an increase in revenue of £10 million. A low increase in sales would increase revenue by £2 million.


The diagram now shows:





•  the three possible decisions the firm could take (cutting price, increasing advertising or doing nothing)



•  the outcomes of each one (high sales or low sales)



•  the probability of each outcome (for example, 0.8 or 0.2)



•  the financial benefits of each outcome – in this case, the effect in terms of extra revenue.





Doing nothing would, of course result in no additional revenue and incur no additional costs.


Calculating expected values for decision tress


The next step is to work out ‘the expected value’ of each decision. This is basically a weighted average of the outcomes, taking account of the probability of each one occurring. Although the firm may gain additional revenues of £10 million by advertising, this is only 50 per cent likely, there is also a 50 per cent chance that it will gain only £2 million extra revenue.
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Figure 5.6 Adding probabilities and estimated benefits to the decision tree





So what, on average will it gain? Imagine if this decision was made over and over again. In this case, 50 per cent of the time the firm would gain £10 million and 50 per cent of the time it would gain £2 million. This means on average it would gain £6 million.


This can be calculated using the equation:
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(where ‘1’ represents the first outcome and ‘2’ represents the second outcome and so on.)


To calculate the expected value we multiply the probability of each outcome with the financial consequences of the outcome and add them all up. This shows how much the firm would earn on average if the decision was taken repeatedly.


For the option of cutting price we can see there is an 80 per cent chance of increased revenue of £8 million and a 20 per cent chance of £3 million rise in revenue. This means on most occasions the firm would earn £8 million additional revenue but there is a 20 per cent probability of earning £3 million. Once again we calculate the expected value using the equation:
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A price cut has a higher expected value than advertising, so on this basis the manager would choose this option. The expected values are shown on the decision tree diagram above the outcome circles; the options that are not chosen are shown using a double crossed line.
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Figure 5.7 The decision tree with expected values added







[image: ]

Figure 5.8 The decision tree showing net gains





However, this is not necessarily the final element of calculating and interpreting a decision tree. It is common for the various options of decision trees to have costs associated with them. Figure 5.8 has added the costs associated with cutting price (changing packaging and price lists, for example) and for advertising (paying websites and radio stations for their services could be examples). Figure 5.8 confirms that cutting prices is the preferred decision as it offers a higher net gain. Net gains are calculated by subtracting any costs associated with a decision from its expected value.


Once the costs of the two options are included in the calculation the net gain from the two project is as follows:






	Decision

	Expected value

	Associated costs

	Net gains






	Cut prices

	£7 million

	£1.5 million

	£5.5 million






	Increased advertising

	£6 million

	£4 million

	£2 million







Table 5.2 The financial outcomes of the two options
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Handling data [image: ]


Imagine that the probabilities for two options were different. Suppose that these were as follows:





•  Cut prices: high sales P = 0.6, low sales P = 0.4



•  Increased spending on advertising: high sales P = 0.7, low sales P = 0.3.





Recalculate expected values and net gains for the two options using these probabilities.
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Business in focus: Calum’s decision [image: ]


Lothian Watches Ltd is based in Edinburgh. It was founded by Calum McPhail, who still owns a majority of the company’s shares. The company manufactures luxury watches which sell throughout the world at prices in excess of £3,000.


Over the last 18 months there has been a sustained rise in demand for the company’s watches. This has led to a situation in which the company is unable to meet demand for its products. Calum has to decide whether to increase production or increase prices to limit demand to a level that can be fulfilled – he thinks a 20 per cent price rise will be necessary. Calum could increase production by asking his existing workers to work longer hours. Many have indicated that they are willing to do so and this is something that he has done several times before. He strongly prefers this option as it is familiar.


However, he has conducted research among his customers in the past and thinks he knows the effect on sales of increasing prices by 20 per cent. Calum’s assistant has suggested that he uses a decision tree to help him to reach a decision, but Calum can see problems with this.


Practice questions





1  Analyse whether Calum’s decision is programmable or non-programmable.


(9 marks)



2  To what extent do you think that the use of decision trees will help Calum to make the correct decision?


(16 marks)
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Assessing the value of decision trees


Using decision trees can be very useful for managers when taking decisions for a number of reasons.





•  It makes managers think about the different options they have and consider the possible consequences of each one. This process may uncover other possibilities that had not been considered before.



•  Using decision trees may result in a more logical, less rushed process based on evidence rather than gut feeling.



•  It forces managers to quantify the impact of each decision considering the forecast costs, benefits and probabilities of events happening.



•  Decision trees provide a logical comparison of the options available to managers at a given time.





However, decision trees do have various limitations and drawbacks.





•  Decision trees only include financial and quantifiable data; they do not include qualitative issues such as the workforce’s reaction to different options or the impact on the firm’s image.



•  Decision trees use estimates of the probability of different outcomes and the financial consequences of each outcome. The value of decision tree analysis depends heavily on how accurate these estimates are. Probabilities are often estimates and this makes decision trees open to manipulation by managers determined to achieve a desired outcome.



•  It is difficult to use decision trees effectively when the range of possible outcomes is not clear and those that can be anticipated can’t easily be quantified. Thus they would be less valuable in making what Herbert Simon called ‘unprogrammed’ decisions. Equally, they are not well suited to strategic decisions.



•  Some managers may use decision trees, not because they believe in their value, but because they can be used to justify a decision. In the event of a decision proving incorrect, the managers may argue that the decision tree supported their judgement.





Influences on decision making


Decisions are not made in isolation. They are subject to a range of influences from outside and inside the business. Tactical or programmed decisions may be subject to fewer decisions but all will be influenced by the following factors to some extent.


1. The business’s mission and objectives


Whether a particular decision is right will depend on whether it helps a business to do what it is there to do. A business’s mission sets out its broad purpose and it may be appropriate to consider major, possibly non-programmable, decisions against this. Thus buying a rival business may make sense if the business is aiming to be the dominant business in a market.


Objectives are quantifiable and time-related targets and may be an important influence on different types of business decisions. For example, it may be appropriate to invest in training the workforce if a hotel chain has an objective to improve its ratings for customer service by 50 per cent over the next three years. What is the ‘right’ decision for one business may be the wrong decision for another because their circumstances and mission and objectives are different.
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Figure 5.9 Some influences on decision making





2. Ethics


Ethics can provide moral guidelines for decision making by managers. An ethical decision means doing what is morally right; it is not merely a matter of calculating the financial costs and benefits associated with a decision. Some businesses are noted for their ethical behaviour.




[image: ]


Key terms [image: ]


Ethics are moral principles, which should underpin business decisions and actions.


The external environment comprises those external forces (such as changes in competition or consumers’ incomes) that can influence a business’s activities.
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However, a number of businesses have been accused of taking unethical decisions. These decisions are not illegal but some would consider them to be morally wrong. For example, several businesses including Amazon and Starbucks have been criticised for taking decisions that allow the company to avoid paying some taxes in the UK. In many people’s view, such decisions are immoral or unethical and this has resulted in some consumers boycotting these businesses.
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The Blake Mouton grid examines management styles in terms of their concern
for production and their concern for people. You can plot a managers style on
the grid. Different styles of management include:

Country dlub leadership - this places a lot of focus on people and very little
on the task itself. This type of leader is most concerned about the needs and
feelings of members of the team. The work environment i likely to be relaxed
and fun but the work may suffer due to lack of control and supervision.

Produce or perish leadership — this places a great deal of emphasis on the
task and lttle on the people. It s likely to be very authoritarian. Employees are
a means to an end; getting the job done s the key, regardless of the
implications for the peopl.

Impoverished leadership — this has a low concern for the task and the
people. The type of leader is ineffective. He or she does not focus on getting
the job done or creating an environment where people want to work. The
result is both work and people are neglected

Widdle-of-the-road leadership - this has some focus on the task and on
people but not a great deal. It is a compromise between meeting people’s
needs and getting the job done but neither is fully met. The result s an
average performance.

Team leadership - this approach has a high focus on the task and people.
Employees are involved in the task and want to get it done. They are involved
in the process and their needs are met by doing a good job.
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Approval message from AQA

The core content of this digital textbook has been approved by AQA for use with our
qualification. This means that we have checked that it broadly covers the specification and
that we are satisfied with the overall quality. We have also approved the printed version of this
book. We do not however check or approve any links or any functionality. Full details of our
approval process can be found on our website.

We approve print and digital textbooks because we know how important it is for teachers
and students to have the right resources to support their teaching and learning. However, the
publisher is ultimately responsible for the editorial control and quality of this digital book.

Please note that when teaching the AQA A-level Business course, you must refer to AQA's
specification as your definitive source of information. While this digital book has been written to match
the specification, it cannot provide complete coverage of every aspect of the course.

Awide range of other useful resources can be found on the relevant subject pages of our
website: www.aga.org.uk.

HODDER
DYNAMIC ‘7 EDUCATION
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